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s '-_-ziac1 N e o
_ If you can complete the

f@g};; table, you can solve the

Jaffiaﬂproblem o o

R CUMPLETE THE TABLE
> ;umb;rlaﬁ g " 5'-f26

trlcycles

‘| Number of .| | 39 241 300 .
wheels . -1 . .

JRTEWE
<

T

1 drlps of water from this
faucet weigh 1 gram

COMPLETE THE TABLE. -

.props | 7‘

Grams | 1] 2] 3 s| 9 | 10| -157"




. Tricycles

10

20

'100

. Wheels

N

30

60

24

300

- |props” " .

vk ; )
T ZBC.’1- }

14

35

63 -

70

105

Grams

0 |

15
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1 'l'imcd"'s‘om,e; -

- '} Kids walkin
| the hollwnx

walked § e ers

m 8 seconds. /

~ COMPLETE THE-TABLE.

Meters [ 5 [ 10| |30 35|
| Seconds| & 1321 | |30

 4BCq

o ".Ihen?this'svcr'efw is turned

F/7—/’ /7/] ‘ \woo:l_ 1’ Fentlni‘eter | - ‘ ;'

G@MPLETE THIS TABLE. R

,furns | 5] 10 15| 20) 2530 35

T Disténqe 1 ,
_(cm) -

5 times, it moves lnto the o



. T‘aacr

‘Méters

10

- 30

35

50

Seconds

le6

48

56

80

T 4BC1

Turns . | 5"

10

15

20

25

- 30

35

Distance

(cm) 1

S

wd



1. 9.turhs

2. 20 feet
S

10

100

1000

40

400

4000
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5881 “Three turns of m ‘Fts\'\dg \'eel \‘\cm(“e
raises the bait
» /—
A" 7 _ S
Turns of Ree| 3]l .1 18 T : E ®
Feet 5 I\ |

‘1. The fish locator shows fish at 15 feet How many turns
of the handle should I make to lower the bait 15 feet?

2. About how deep are you fishing when it takes 12 turns
of the handle to raise the bait to the surface? ‘

6BM1

| MAKE A TABLE WITH 5 MORE ENTRIES TU SHUVI THE NUMBERS- |
. " OF WHEELS NEEDED.

.Wagone: '-L .2 ' 1\

| Wheels 4 8

b g
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Dimes

10

15

25

40

. 50

Quarters

10

16

20|

- T 8BC1

} Trucks

10

Wheels

12

120

36

60

48

72|




7BM1 |

5 dimes for

Do you have | [ will you
take 4
dimes?

)

COMPLETE THE TABLE.

No! Bécguse |
. i es S
3 o‘iﬁ’*fz :%uqﬁevs.

any dimes Could
Toqth g couls

Tf I had aldf of |

udrTers, how

. 8BC1

Dimes |5 | 10 RE: 50
[Quarters | 2 | 6 16 |

" COMPLETE THE TABLE.

. {Number of . _
Jtrucks - 1110
| Number of 2 ] |
' lwheels 12 '-36_ 60 72
{
10
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Cans of : :
~orange juice r} 2 4 1 10} 7
™ Quarts of ‘ . ' |
. water -3, 6 12 30 21
Three cans of frozen.orange juice would be mixed with
9 quarts of water. |
- N
N ,&
> T10BC1 .
Wagons 3 5 4 10|  50f 100
Wheels 12 20 16 4Q 200] 4040
— . _
' >
¢ g
'Y

11




'SHOW THE MIXTURES IN THE TABLE.

The dwec‘\'\ov\s sa

uarts of
with this Can of
-Fro3en orqnge AMIC&

mx 3

Cans Of' . _ 1 2 4 10
orange juice .

Quarts of 3

water '

B How many-cans of frozen orange juice should you buy

!‘ to mix wnth 8 quarts of water?-

© 10BC1

rn ‘ _
WAGON | S
FACTORY 1

COMPLETE THE TABLE.

Wagdns "3 5

Wheels | | 1w} a0

400

Aruitoxt provided by Eic: . Lo~

wcr\'er
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‘The. table could have these entries:
Red . 1) 2 3 4’ s 6 7
vellow. |~ 3} “e] o] 12} 15] 18 | 21
v )
[4

T 12881

Baseball .

cards 2 4 . 6 8 10 20

Football ' ' .

cards ’ 1 2 3 4" 5 10

L. 3 football cards for 6 baseball cards.
2. 10 baseball cards for 5 football cards.

3. 10 football cards for 20 baseball cards.

13
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| f yOU‘have red and yellow food coloring, ‘you can
. make ordnge food coloring. 1 drop of red and 3

.\g_gﬁrips of yellow makes orange. :
" MAKE A TABLE WITH 5 MORE ENTRIES.
Red . 1 <: |
Yellow 3 1. _ ‘:7

r . Fa
Vos

N

12851

Walt and Jim trade sport cards. Two baseball
cards can be traded for 1 football card.

Baseball Cards 2. <{
Footbail Cards | | B¢

l. How many foo 11 cards will Walt‘gét for 6 baseball caids?
2. How many :baseball cards will Jim get for 5 football cards?

3. Walt trades 20 baseball cards. How many football cards
will he\ get? T e ~
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T 13831
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Basketballd| . 1 2 3 al s
Players/. 10 20 30|, 40] 60

K .

1. 30 players
" 2. 4 basketballs’
3.//60 players

i .
”

‘-
=t

T 14BM1

Your table could include -these entries:

Number of | . ' :
passengers 1 -2 3 4 10
Number of :

kg baggage 20 40 60 80| 200

=

15




®complete the tabls.

 |Basketballs

1

2

3

Players-

10

: 20

40

4

l. If we have 3 basketballs, how many players can we have? -

2. If we have 40 players, how many basketballs do we need?
3. If we have 6 basketballs, how many p'layers_ can we have?’

.

can Orir
Ki103rqms - of
baggaqe.

'MAKE A TABLE WITH 5 MORE ENTRIES.

Number of 1 | -
| passengers '
Number of | 20 ,
kg baggage 4
™~

ERIC

Full Tt Provided by ERIC.

16
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"\ ‘ <
‘1. 10 small wheels for 5 tricycles.
- 2. 7 large wheels for 7 tricycles.

’

-

3."6)tricyc1es use 18 wheels.

« . T 16BM1 . |
Sample answers.
Money . 3¢ | we| 9¢ | 30¢s3
Miles | 1 2 3. | 10 [ 100
-~




A}

COMERL
i e coiuh\t}éd tricycle wheels, N

o .. Use our table to solve the problems. o

ey, ;
‘63'&‘\ ¥ B R ) .

.o | Trieyeles l
v | Smdil wheels 2 |4
. b ) il»',

sTel7] -
Slel|7] - L

olw|e (o]

N |x]oo]x

g Lorge wheels 2:/ 3¢ i |
Total wheels |3 ]6]9 Jiz[s[ig[al]
: o R
_ 1. How many small wheels for 5 tricycles? -
2. How many latge.wheels for 7 tricycles?
- . 3. Théere are 18 wﬁeels « How many* tricycles are there if
~ they have 18 wheels?  * = ., o L
, ! . o . o " ‘ ,. . o -?‘. . _’.“ ~ . 3 | .
S . o - ) . 5‘ e o —("._‘w s . o 'zg
3 . . : .

3¢ A MILE,

5. MORE ENTRIES
NEY' YoU couLp

l'"s.j :

ybur‘ bi ke,“

Miles

TO SEE HOW MuCH Mo
MAKE IF You. cHaRaE

MAKE A TABLE WiTH

. c-g
0o¢cl% . 8. ‘
f Zg-oug i |
—+ % 0"
QcFES 1
\Sgafic 5
~ sre =

+o
odo
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1. T3se _ oo e
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. . The table would help: o S s L\\ . o
L | - N 94 T < o 0 : K : . s '
- L
) e RS > 3 oo L e c
 IBottles 3§ 1y 2 - #|, 2| 104] 20],.30) a0} L -
. . - , R R g <y oo . ._. — ., . .
. |weight -~ 8| 18] 24 32] 80| 160 [ 240 320 .
Al . . . - . N N N N T 3 L3
C L - - LT S e T - ~
. . N . N 3 ) ) ; g
. 1. 32 PoundS. . E “’" % b # :
B . . - - . .l_.. . . & . -, . ) .
2. 3 bottles. ) B ooe Tk )
' . . L 4 . P
. . , & R L . la s ” . 3 > b !
3 Z%bolttles. . : St K .
. Sie s L : v N T 0t . ° " .
. ' S ‘ ) i ' _— ,‘ . L e
N .‘:"Q' L - ;; : U ] -, K - . ) .
. i T . . . o 3 i R ‘»f’
‘ g Yo 4 4 - ]
] . e i . . U R ‘ .
N . " * v ‘ B c. i LN ";5:‘
N . :.I . J!_’ - . -".'“ * v n oy
o . e I T ' 3 N
. - ! ., N g g
S N . .
. T . ’,l </‘ ~ - R
> < '. ) LN -~ - J ‘_ I‘,
N 4 / e .
N N . : ' PN
o - . 19 ) < ;
ERIC ,, | . | EERR N

Aruitoxt provided by Eic:



17851 - " o |
. a L) . ) .1 -.,.7 )
o sw . ~
o Sove o SN, } o .
. a * N
. . O S » .:
CUMPLETE THE TABLE s

Number of | D R ‘-,f#' 5 e L o T ‘
pickels . SSEET e S ol

N SR 5 N B Yo st e Cor T e - : "
N Value of . 2 -‘5¢.:£30¢ % 2 e R s oo

nickels

of nlckels.ﬁ_How many does he have’

=o. What 14 their value? »n' ff‘ ”;' Cos

Ce . . B ' T
e <
. . . . ¥ . R
A B s
7 \ ,
R .
o
),
LA
-»{
v .
- 1:
T
-
.

[ Number of |- 11 ' o
bottles ° -2 _ :

‘ A Weight of o
,w @,*_$ig?,;.“ oo - botﬂles . 8 .16 if

4 - - x :_’
" - - " v ﬂ ) ’ «'L\ N ) .“ . :
)‘“afl Mzke brnght 4 bottles of juice. What did they weigh? '

;:Lka ﬁél brought 24 pounds of Julce. How many bottles did;
e she br;ng?wl'_ ) s S _

Ty h3. The school néeds 160 pounds of Julce. ' How many bottles N
e should the& order? | o . : ’

N -
£

. PO < . :‘
Y S w ! p . )

tj . ' 5 - .

J S - ]

. Y . - -

] COON b .

» i % -~
N S
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© lwheels, | - 2 g
\.‘ - I' , °. v . ) . j’& ]

- 2

1. Five blCYCleS are in a rack.
2. Jack counted .8 wheels on the blcycles 1n hlS garage. Howf
_ many. blcycles were there? . :
- 3. There were 100 blcycles at the sW1mm1ng pool. How many
~“. + wheels did .they have in. all?z. =
.4, Jill sa1d that 0 bicycle t1res passed her house. How many -
ST blcycles vas that° _ _ ' :

a3

How many wheels do they. have’

» v IR
@ - : - ' ‘
D ) R

© . )
. v ©
> 30BC1 ! '
. - ;;‘ o

i
N ~
[

’ 4
<

< -

,){,:J

v

Pulley A turns 2 times for
‘every 5 turns of pulley B,

O
COMPLETE THE TABLE

anXsIOf" ‘2,' 4l 6 gl 10 20 { 30; 40
‘ ‘Turns of |.. 3} y
. B' '

21




o To2®st

. Th;s‘fab1e>WQuld help:

e

Bicycles

1

2\\

10

20

© 80

)

- 16

20

40

160

Wheels

1. jlolwheeis..-
2. 4 bicycles. .

'3. 200 wheels.
‘4. 40 bicycles.

T amel

Turns of .
A .

.20

30

Turns of

20 -

10

25

50

75

100

10

15

22
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: - RS | . Yl I
‘Table of Squares = o Sy

N| Nxnf| o] nxnfl N Nxnll n] xxw D L
1 1 ff.6f " 36 |11 121 || 16| -2s6 | = . Co
2] 4 | 7 49 |l 12| 144 || 17| 289 | - A
3] 9l 8] 64 13] 169 || 18] ‘324" - o \
4 16 §| of 81 |l 14] 196} 19| 361

‘5| 25. 10| 100 | 1s5{ 225 || 20| = 400
The square of 13 is 169, . u T .
FIND- THE SQUARES OF THESE NUMBERS. - - .

1. 18° 4 16 T

2. 14 5. 11
3.0 19 6. 15
.

A cartoon commerclal runs at 24 frames oer second
An artlst has to draw a cartoon for each frame

'Seconds,-.- 1 2} - 2

| Frames 24 48| | <E>_

How many cartoon drawings does an artist have to
make for a 15 second commerclal?

23




T 2mRY

f‘ - . U
- 1. The squaré of 18 is 324.
2. The square of 14 is 196.
' 3. The square -of 19 is 361.

4. The square of 16 is 256.
5. The square of 11 is 121..
6. The square of 15 is 225.

. T 2881 |
360 drawings forﬁzhéIS'Secdna commercial.
e - ] ( . - Co. .
- One team thought: 240 for 10 seconds
"7 120 for _5 secondd.
' 360 for 15 seconds

i

24 .

L . )
- . <«




st

Number of | , | if B 73 4

Lauper vans : . ‘ . a K S
Number of '| 5, ,{?f L > » S
whaels R R o _

1.f.Three ‘super vans passed the corner.‘,How'many tires~was
that? : - -

2. Llsa counted 80 tires on the super vans at a gas statlon.
How many vans were there? _ .

3;- Larry .said 5 super vans were. used to move a. buslness.s quel
many tires was ‘that?

/
: Z‘BBR,}_ T

3 < i ‘sd )
’ 'AIRLINE MILEAGE CHART - o
st X : . . oo . 0. o
. -] 9 '

: ey S 3 (o
ST ' BTGP P> yof ﬁ‘dp 509
IR At o o 3 > o

o O o2 07 ¢ &? \?

Chicago ~ [E7ZM 901 | 1746| 719 | 1847 | 617
Los Angeles | 1746 849 f: =% 2454 | 340 | 2286
.+ New York 71911617 ) 2454 kil 2566 | 200

_ How far 1s 1t between these c1t1es.
1. Chicago to Denver?
-2. -Los Angeles to New York?
}.'ONew'York'to‘Washipgton; D.C.?




S
24

@g’

-

©To2msi

‘-Super Vans

Wheels

20+

g0l

o

10

. 120

140

3.

‘6'0 ‘I' -»’.”@'
4.
100

T 26BR1

1.
2.
3.

.901~mi1es‘

2454 miles

200 miles

.40

60

26
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1. Find a small pencil and make a table.

2. Place the pencil on the metric ruler and record the
" - numbers in your table..

3.  Move the pencil’and record again..

" 4. Make at least 5 entries in yogf table.

g

Eraser end| ‘ l : : » : T

f,:; N Point‘en&; f , il
PR 71

",.' _ EOQ‘\ dos 331-5

| can of dog

food .a day.
'How much;&ahnad dog fbod is nesded? |
Dogs 1| 2| 10| 20 40 | 100 B

) Cans ,;ﬁ | V E




) 2 o ‘ oo ‘ ' e
T 23BM1
Your table will depend on the particular pencil you use.

The numbers in the top row should always differ-from the
numbers in the bottom row by the same amount.

-/

i
3
. (o
“‘ M .
T 248C1
Dogs 1 2] 10| 20} 40| 100
cans | x| 1 s{ 10| 20] 5o
~r \"ﬁ

28
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MAKE A TABLE UITH 9 MORE ENTRIES

' Number.of o, > : L
Number of 3 ’ _
|dollars : -

! . Ever7 perso
| . | "'“ 50
. oﬂ\e. cap.s ’\ »'

MAKE A TABLE WITH 5 MORE, ENTRIES.

Number ‘of N I é
Number of

bottle cap& 50 - 1 - 3 _




T 21BM1 e

' Your table could include these entries:

‘ .
Number of | B 3 N
eople 2 4 6] 20 40 60 100
~Number of N o _ . o
dollars 3 6 .9 30| ‘60 90 150
Your table could include these entries:
. ) ' '
Number of ' PR : N
people 1) 2 3 10} 20} 100
Number of | /| ) o i
ottle capS'“SO -1 100 ‘150 500] 1000]5,000

!

30




" 19BR1
Yards 1| 2| 3] 4| s{ 6|7
Feet 1 3 6 9| 12| 15| 18| 21

‘Inches 12 36, 72 | 108 | 144 | 180 216 | 252

USE THE TABLE TO ANSIER THESE:

l. How many inches long is” the yard stlck?
2. A room is 12 ‘feet wide. How many . yards wide is the room?

© 3. Our medium size car 1s 18 feet long.' How many yards long
: 18 the. car? : .

MAKE A TABLE UITH 5 MURE ENTRIES TO SHOW THE NUMBER~

OF IHEELS
Number of |- 1 2
bicycles
Number of o, e g
‘| wheels . ,




T 19BR1

g

2. 4 - . 3
3. 6 \ T
Fh

T 20BM1

Your table could include these entries:

&

Bicycles 1| 2 3] 4| s 6| 10| 100

"Wheels

2| 4] 6| 8| 10] 12| 20 200

E\W"L




T 31BB1
'.SOcm»of'wate;.

{

Toama . e

td

‘Yqﬁr table‘coﬁld include these entries:’

/ |Centimetersf 5. |10 | 15 | 20 |50 100 | 1000

Grams 2 | 4 6 |. 8 |20 40 | 400




RS BUFFA

o, NEW YORK -
b 550 GENTI

eacher sth

: mokes 1 Ccn"' tme.+cr

vHow many centlmeters of water woul&? »[ff‘,

550 centlmeﬁars of snow? P

Five cgntljgtars of this
- wire we' gl .

MAKE A TABLE WITH 5 MORE ENTRIES.

céntiméterJ

. 5 '

\ Gr_ains

2

& ,

My Fedensr o
Il centirheters of Snow




T 1YC1

" Latge dogs 6] s8] 4 6| 30
‘Small dogs 6] 121 9 36] 15
Pens 4 5. 8 s{ 15| 20
kY
- :
T iZYS1 |
Thls table would help you: o _ A
A Boxes |. 3 6 18 30 ? S .
| — : I *
B Boxes 2| 4 121 20
ls 18 _ N .
2. '. 20 . ] . . . 14

3. 18 inches

33 A Boxes would be 36 inches high.
If 2 B Boxes are 36 1nches hlgh, then each must be 18 1nches.

35




e -
o ' - . t 2 lage |

i o o - | iv Erﬁpery N .C%§£€>
' L see yom“‘

put 3 Small
S in a pen.

-y
i

How many pens are nesded?

Large dogs . 6 8% 4 6

Smalldogs - | 6 | 12 | 9 |- 15
'Pens 15 | 20
. i - " : )

L 2Yst

You stack up two kinds of boxes ‘Three of the A
boxes are -the same height as 2 of the B boxes

A Boxes ' | 3 6 1 2; |
B Boxes 2 4 o K \

1. How many A boxes would be the same height as 12 B boxes? ;
2. How ‘many B boxes would be the same height as 30 A boxes?
" 3. . A 'box./es, a;'e_ 12 J.nches high. . How high are the B boxes?




T3St

i » table should help:

TﬁrnS'of . o A v
A : .2 20 12 64 '| 40
[Turns of — T
B 5 | 50 30 160 [100
. L4
1. 50 times

2;.‘12'timés
3. 64 times
4. 40 times a minute

RS

| Dollars 1 1,;2 - .3' 4] U“s'.

JQuarters | 4 8] 12 16 | 20

1. Putmin'g.dollars to get 8 quarters.
2. You get 16 quarters for 4 dollars. :
3. 'You'héed'tp put in.i\fillars to get 20 quarters.

[




MAKE A TABLE WITH 5 MORE ENTRIES.

Turns of |- ’ T ' e
A SR
Turns of’ 5 U
‘B . ' .

1. When pulley A turns 20 times,, how many times does pulley

B turn? . .
2. When pulley B turns 30 t1mes, how many t1mes does pulley
A turn?‘ * , : s

3. A motor turns pulley B 160 times in- & minute. When this motor
is connected how many times does pulley A turn in one m1nute'>

"4, ' How fast must I turn pulle A to get pulley B to turn 100

times a m1nute? _ .,

e e
LR £ ¢ TN “
* ;@33 T

"“4YS] pul.fnf‘_[/ff

Dollarﬂsl B
Quar're.rs . H

'1. yﬂow many dollars did you’ put in 1f the mach1ne gave you
- 8. quarters? : . .

»

o

2. ;Bow many quarters do I get for 4 dollars?

3.I_There are 20 quarters in a roll of quarters. How many

*dollars would I have to put in the machine to get the
number of quarters in a roll? :

38



W

Your table could include these entriés:

~ IBoxes. -~ | . 1| 2] 3| 10| 20] 100
lerans : 330 |'660 | 990 [3300 ssoo'F3,odc
: B . e
4
~
*4
) T 6YB1

One student took 50 breaths in 3 minutes. For that student
the table is: : . LA B

" IMinutes 3] 30 60

. - |Breaths | 50 | soo.|1000

1000 breaths in‘l-hdur.

» L o _ .

39




~ MAKE A TABLE.

Boxes -1 1

+ £
| Grams 330 C

 6YB1

-~

Ak Someone to time.
3 minutes Hor Yo --
Count T\«e nu.m\oe.r -

of times Youw b\’Ca.T\AE
'\DVW\QHy

H~ M bré.qfus |
o?wa‘ﬁ?n{;ou(d yo

\fake m an hour?

Minutes' 3

-] Breaths’ X o Q




T Vet

¢ ..

. Dimes 5 10 1s|] 25 | 50 100 | 150
Centimeters 9 18| 27| 45 90 | 180 | 270
{

>

T 8YM1 |
Your table could include these entries:
Dark 3 6 9 |12 | 30 60 75
Light 4 8 12 16 | 40 go | 100
e w

1




ner

Fivé diﬁes‘side,hy sidé‘ara'g gentimetar3~long,

 COMPLETE THE TABLE.  *

Dimes 5‘° _ 125 |50 5o |
Centinvtis| 9 | | 27 g

8YMT

N N
e ¥ Sy ey ¥ on

MAKE A TABLE WITH 5 MORE ENTRIES.

Dark 3

“|Light 4 )

42




>

T 9YM1

Your table gouldtinclude theése entries:

Number of ; g . ﬂ
Comic Books| -1 2 3 10 .j100. 000
Profit 2¢ | a¢ | 6¢ |20¢ ] s2 | Js20
. !
i
T 10YM1 -
Your table could include these entries::
- ﬁ ]
Players 5 10 15 20 25 30
Basketballs L "2 4 6 8 ‘10 ¥ 12
. ;
o
2] N :’;-_
43
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9YM1

( PQS Q
' }o earn
A b

uy old comic books)

each o d re
“$or S n hw’

——— . d

'MAKE A TABLE WITH.5 MORE ENTRIES TO SHOW HOW MUCH YOU
-~ CAN EARN. ' |

{comics ' < ‘
Profit | (

| 10YM!

ef\eed )
5Ke1‘ball5 for
ery 5 players / L g

'MAKE A TABLE WITH 5 MORE ENTRIES.

Players s | Z
'misketbani 2 Q

44




T 1R

. Number.of _ 2 4 |- 6 \8 10
dark pieces :

. 9f"u —— 3. ‘ é - 1.9 3 '15 . 150
light pieces : .

1. You need 12 light pieces for 8 dark pieces.
2. You need 40 dark pieces for 60 light pieces.
3. You need 30 dark pieces for 40 light pieces.

xﬁlﬁ%é .
T 12YM1 |
Your table could include these entries:
¢ | Number of . v
Blocks 7 14 21) 3.5] 10.51°17.4 1
Number of ' o ' - B
Minutes 2 4 6] 1 3 5 - .29




B 11vRyx_ |

\\)".9 R

| To makelthlévdesfgn you need
2 dark pieces. for Bvery 3 light /4
-_pleces. |

boricieses| 2 | 4 | 6 | 81] 1 | 2040
Lmrpeces] 3 | 6| 9 [ 12115 |30 |e0]

- Light fieces

1. How many light pieces are needed for 8 dark pleces?
2. How many dark pieces for 60 llght p1eces°_

3. How many dark pieces for 45.-light pieces?

T can mde 7
loc.KS n 2 ‘minutes .

'MAKE A TABLE WITH 5 MORE ENTRIES. ’



R

'y
H]

T 13Y81

This table helps:
Eggs 121 | 2 o | 10 | 11|100 {327
 Cost gae] 7¢ | 14¢ | e3¢ | 70¢| 77¢] $7 |$22.89
1. 14¢
2. 63¢
3. 77¢
4. '$22.89 v
,
N
S T 14YMT
" Your table might have these entries: r
Minutes 5 10 - 15 20 25 30
Dolls 36 72| 108| 144 | 180 |216




this” morning.

Cost Ag
— v
How much did the two eggs cost? ﬁi
: ‘ o ' . 4
2. The Fox family ate 9 eggs this morning. How much did g

those eggs cost? _ |
3. The Smith family ate 11 eggs. How much did those eggs cost?

4. A restaurapt used 327(eggsAone morning. - How much. did the.
'~ eggs cost? - :

¢

| can cut out 36 dolls in»5lmihutes.

'MAKE A TABLE WITH 5 MORE ENTRIES. { "

Minutes | 5 ‘ Z ;
o |
Dolls | 36 < | | ;

. . . .
48 . ~, e
: 3 L




T15YS1

 This table would help:

Cokes 1 2 3], a] 20] 24} 240

Seconds s| 10! 15| 20} 100} 1201200

|Seconds _ 51 5] 2 |

l'coke takes 5 seconds. : 13> . .

240 cokes take 1200 seconds. That is the same as,20 minutes.

- T 16YB1
> . ,
Country | 3 6 | 12| 15| 21
_wes tern
Records 4| 8| 16| 20| 28

I have 21 country western records.

49

A1




15Ys1

Time \me o see | ceet 2 CO'KQS)
how lown 1 . B el >
takes 3 3¢ 2! \ m _|Q Se.;onds .

5

1. How long for 1 coke?
-2. If we got one for everyone in our room, how long would it
take? :

3. The coke man told me he puts 240 cans in there. How long
would it take us to empty it?.
. o [

Three ouf of 4 of
My records are

c.oun‘h'y- we s+ern
records.H 3

CbunfqﬁykSkrh '3 | (:'.
Records 4] ,<:

I have 28 reéords. How many of my records are
country-western? |

50 -



T 1701 T R .
P Your answers to the questions will depend on the data ' T
you collected. :

Coa
el

C T 1evel

Pennies 10 | 20 | 40 | s0 | 200|200

cm 19 | 38 | 76 | 95 | 190 {380

.'51




L \géggy

GET SOME PAPER CLIPS. ASK SOMEONE TO TIME YOU

~ BUILD ¢ ggﬁau OF 10 CLIPS. COLLECT YOUR DATA AND
© COMPLEZTHE TABLE. | o

o Jeuipst P 20| 25| 30 |
| Seconds N '($} : | (//
1 ‘ >
- USE YOUR TABLE | |
l. How long would it take you to bu11d a cha1n of 40 clips?
. 2. What would be the time to chain a whole box of 500 paper
f clips?
,i o 3. You linked paper clips together for 3 minutes. About how
i o song is your chain? .
. .
K A
18YCH1 o
> )
14
‘Ten pennies laid.side-by-side are 19 centimeters long.
COMPLETE THE TABLE.
‘Pennies 10| 20 so | | 200
‘Centimeters 19 | 76 | 190
.

52




T 19YCH

There is 2¢ profit on each comic book.

Comics 2| 10| 100 25] 250

Profit 4¢| 20¢] s2 | 504 S5

T 20vR1
© 1., 5 yards.
3. 24 inches.

A
.'\.lv"‘




'19YC1_ "

[Heres a wo»y to
[ earn’ rnoney I,
buy old covmcs

for 34 each
and " resel) ﬁMeW\

for 5¢ eac

COMPLETE THE TABLE.

comics |- 2| 10 |:loo | -
Profit l 50¢| 5 | s1
. - ’ ‘ -
20YR1 )
Yards a2 3| a4l 5| 6] 7 |
"Feet | 1] 3| 6| 9] 12| 15| 18| 21 o
Inches | 12 | 36 | 72 | 108 | 144 | 180 | 216 | 252 |

~

-

© 1. 'Joe's 11V1ng rOOm is 180 1nches wide. How wide is the

11v1ng room in yards? ‘ ) ) o T
7 . : .
Y o 2. A TV set is’ placed so that it is 108 inches. from the chalr.
~ How many feet is it from the chair to the ™v? - 7 f

, 3. Jim purchased 2 feet. of rlbbon for art class. How many -
T . 1nches did he ,purchase? L




T 21Y81

. |stitches |" 3 | 15 300 |35 |

Centimeterﬂ 1 5 | 100 | 105

Bach leg has 315 stitches. Both legs have 630 stitches.

‘ 4
. T 22YC1
o ' r -
, — p—
Shirts | 10,000 |- 15,250 12,243 9,999
2 o ' .
Buttofis | 110,000 .| ¥67,750 134,673 21095989

I

N




~ How ‘many - Stitches ™|
are in both legs if
gach leg is (05 Cenhmetery

Theére
are 3
Stitcheg

" Qenhbdu

T <
‘Stitches

Céntimeters

The Neéto Shirt Company buys tohs of .
buttons. For the Exec Model, they.
use 11 buttons on each shirt. .

T - COMPLETE THE TABLE TO SHOW THE BUTTONS
Butns) J mEEDED.. - |

k)

shirts | 10,000 15,250 | 12,243 9,999

'Buttqns_'




T 23701

Cans

12

. ,._‘Sﬁ;',._ ‘A_.,m e e e e e

"l?ojt

29¢

58¢

$3.48

1. $168.96.
2. $211.20.

- 3. 38 hours.

13.05 .




" COMPLETE THE TABLE.

cans. . | 1| 2| s]| 15|

Cost 29¢ | s8¢ | . $3.48;$13.05|
N

3 % avst 0 L
Mr. T;}lor is a cutter for the Neato Shlrf'Company

'He is: pald $5.28 per hour

;CUMPLETE THE TABLE TU HELP MR. TAYLUR FIGURE HIS PAY.;"

J

| Hours ".  1 o 4)

",,Pay"; $5.28 <S ‘ ' v .

Q:l;iﬁOne week Mr. Taylor worked 32 hours What was his pay’

ol ;Another week Mr. Taylor Y?f;ed 40 houréfﬁmﬁhht was his pay?

' 3. One week Mr. ‘Taylor was paid $200.64. How many hours did
- he work? '

RIC -t 58




o Teswt s

Your table could 1nc1ude these entrles.

__“____ therS__ el 2.0 310 20, 30 e e e

‘ Kilometers | 13 | 26 | 39 | 130260 | 390

T 26YRT P

-~ 1. 1847 miles. | - ’
¢ . C

2. 1857 miles - San Francisco to Denver is 956. m11 é‘

/
N

Denver to Chicago 13 901~ mlles.; R _
_ - /956 + 901 = 1857 Lo, oA sy
" 3. 10 mlles farther. ‘ SR '-*i ) I'f~./-f--7 T

L. -, . "_ - g P . . B .;-.: - )
;- ” 3 . I Ll

FRIC . = - 89 o

Aruitoxt provided by Eic: - ad .
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: : L :
. . - ’ LA \
. ) . . -

.'I CQ drwe '3
fiGlome e.rs on:| -}
: h+e.r- of Q solme,.'

- n‘" L Lt Al Y ) AS B K - ' . .
R BN X N R SR LY &) e. T euE )
. Liters S N TN O D RO

N BT E RN A ’ et " o
. ; o - I U -
o xuome{-.ers I3 17 T { 23 ;

' v
- a0t

e . . .
¢ ° . <

- ﬂ-%i‘ .‘) : ‘é e :
vl 8 4\’1_3_1.@ MIL::.AGE CHA’R"‘ B

. u'" ~T 8

BT e e T sy

RS ——
e E ghicaé\ S22 901 |1756'| 79
VA DenveR . f'gpl ot il 849
(. |'s&n Francisco .'13‘ifz, 956, \346

e o
'-'\ ‘

1. -OnCIE
j?z;',Use the mlleage chaxt to flnd the distance from
5 San- Francisco  to. Chlcago if you stop in Denver. .
;,Q3ﬂ ‘How much. fartherﬁlé it to fly from San Franc15co w1th

LY

a stop ‘in Denverz RSP ‘

c_ . ,' ., : <




T 27YR1 )
1. 2.83cm |
2. 5.66m

. T 28YR1

1. 42 'swings .
2. 100cm (or 1 meter) = . N e
3. 1800. (30 x 60) | Y )

61



211 R :

@] {

D s vt
, _ ;Length of. : _ = o
P side 2 3 41 sy
I sidie e e
o Length of 1 - 1

. diagonal 2.83| 4.24] 5.66| 7.07 -<):
o oo - ‘ C

—%ide o - E l

.  1.;.How Iong is the dlagonal of a square when its s|de
- is 2 cm Iong -

— ST

wm

2. How long is the dlagonal of a square when

its
gide is™4 meters long? .

3. How_long is the slde of a square when |ts dlagonal K
vis 7 07 mm? . | |

28YR1

The number of times a pendulum sW|ngs per m|nute

depends on its Iength SRR A
Swings per ' an .
SYongs per| o, | 42 | 30
Length in | | |
cent1meter 25 50 100

~ USE'THE TABLE TO ANSWER

l. How many sw1ngs_would a 50 centimeter pendulum make in
_ 1 minute? , h ,
2. How long is a pendulum that makes 30 swings a minute?
" 3. How many'times'wquld you expect a 100 centimeter pendulum
to gwing in 1 hour? | '




T 29YC1

-Your answers will depend.-on the time it took you to build
. the 5-spool snake.

e e e e e e % O P
. G .
. - -
.

T 30YR1 |
1. 1 quart. e - S
2.  8 éuarts.- :

63.“




29Y01

ow man
Seconds"’ (,f' '

Find how long it takes you to put 5 spools on a piece

~ of string. Use the time it took to make a 5-spool
-snake to-estimate how long you would take to-make the
longer snakes. Do not build the longer snakes.

Number of s | 10| 15| 30| 100] \
spools - v _ .

Time

N 30YR1 G O D @

_JC>%’;§glons 1 1y 21 3 4] s

|1 Quarts 1| 4 8| 12| 16| 20
Pints 1| 2| 8| 16| 24 32| ‘40|
cups. | 2] 4| 16| 32| 48| 64 8of

USE THE TABLE TO ANSWER THESE QUESTIONS:

1. If you drink 4 cups of mllk how many quarts’ do you drlnk?

2. For a party you order 2 gallons of ice cream How many .
: quarts did you order?




T 31YM1 " ‘

-Your table couﬁd-include'these-entries:

Dark 3| 6 9 12 | 30 33 ‘3oo#§ -

Light 5 10 15 20 | 50 55 | 500

b

Taw .

Ybur table could includg these entries:

fRevolutions of RS 3 . -
big wheel ] 3] ef o9 1| .375037.5

Revolutions of _ . _
little wheel : 8 16 24 2.67 1 100




T need 3

dark pieces For

every 5 light
pecey,

-~ MAKE A TABLE WITH 5 MORE ENTRIES.

- |park | 3 { | B .
" |Light 5 ([ . | -

a2t

Every time the big whesel
. turns 3 revolutions, the -~
- little one turns 8 |
~-revolutions.

A

- MAKE A TABLE WITH 5 MORE ENTRIES.

- J Revolutions“on/ ‘ . g |
- ‘| big wheel - 3 v . .
Revolutioné on | ¢ Q
little wheel - v




)

T 33YC1

Green 15 4 s | 12] 20| 24 16
White - 1] 2 3 5] 6| 4
f— ‘ — - - —
'Light green 5] 10 15| 25 30 20
c @
. : ¥ g .
T 34YCH
. Lo |
Cubic - ' g0 120 | 180 | 300] s600] 3000]
centimeters - . : ‘
Heartbeats | 1| 2 3| 5| 10| 0

\ .

_1. 120 cubic centimeters of blood in 2 heartbeats.
2. 600 cubic centimeters 6f blood in 10 heartbeats.
3. 3000 cubic centimeters of blood in 50 heartbeats.

.  f;?hﬁ



Here's a tdble’
+hat show s
Some mixtures.
How much do

W e

COMPLETE THE TABLE. . W/ /&

Green N , 4 8 12 20
White - 1 2 | 6
‘Light green 5 10 | 15 |. . 20
‘ j . '_" 5 . ' ‘ . . o ' ‘
,-34YC1_ ; j

Do you ever wonder how much blood your heart pumps7 “
Normally, about 60 cublc centlmeter\\ef blood are

pumped per heart beat ée

Cubi 1/
| c:«t":é‘l'ers 0 : < |
T I

1. How many cubic centimeters of blood are pumped in two beats
.0f- a normal heart’

2. 'How many cubic centlmeters of blood are pumped 1n 10 beats°

aii cubic centimeters of blood are pumped in 50 beats? J

-

Aruitoxt provided by Eic:



o 1WBY

How old will
\ my mother be
when I'm %

Saturday...

I made 20 baskets

today. Each day Tam
oing +o magke 10 more,
askets than the day

before. <

'ﬁr.gdéyfdidjhe make 100 baskets? -,'
| Dgys " [set [sun[Mon| |- 0 -

[Baskets[20[" | | | ¢

-




T 14B1

-Daughter |} 7 10 15 16

Mother 39 | 42 47 | 48 }
: Vihen 1'm 16 -my hother 1s 48 and 16 is % of 48. ' '
Bl
n ] L
. g};
.- S
. T .2WB1 ' -
Days « | cat.| Sun.| Mon.|'Tues.| wed,
' v : )
Isaskets ©20 | 30 40 | 50} 60
N Sunday he willd $.§;§bq basﬁéts; .
S T o
: . . ' ,
k] ’ 8
. . - i
- Lk
., 3 /.dlb *
o \-,
oo o~
' 0
‘ s ..‘..\. l .
\‘1 ‘ [’ - , . ‘I" ; » —"¥




3Ws1

A German Shepar
15 expensive 4o feed.

X 1t takes 4 pounds
'Fooé each day

Dad !
h;:Z\MMqTII
found in the
Pap f..

Pounds T T |
Days | -

1. How mény pounds of dog food would you need for 5 days?

2. A 100 pound bag-of dog food would last how many days?

WA //// T
T
3

iy

Each dictionary
" has 764 pages. '1/7/F—

MAKE A TABLE WITH 5 MORE ENTRIES.

Alvuu¢ac

{ AdVouNg

’ ‘Avvuuuua
Aamnum
‘Amvnouaq

‘Number of

dictionaries 1 : .
Number of ' ' .
pages : : 764 o




73wt

Pounds . 4

12

16

- 20

100

Days. 1

4.

'y

5

?.

- 25

mretionaries

. * - - -,”!# '{“' .
. You weexd 20 poundsfor Godays. 'ﬁégp )
Ce o 100 -ound bag will last 25 days.
»
T 4WM1 |
aim taki s comld . incilauds theere cephrge s
1 3 41 5 6

IR TR

764 7

22923 3056

3820




kave_ 8 comS
o 54

" LUM9

INi;ckels’ 1| 2] 3] s

(Cents ~ f 5] 10115 | 20 25
,

Dimgs - 1| 2 | 31| s

| Cenlts-,' 10 | 0| 50

fon many of our‘ﬁ coing arg
mckals" - \, |

Elﬂ\\+ of us
Stan lﬂSlAQ{
& uar me+er

Number of -
studen

Number of .
- square meters

1, How many students could stand'
inside an arep of 2 square
meters? - ° -

2. How many students would fill.
an area of 10 square meters?

3. How many students could you
. expect to squeeze into an @ .
empty 60 square meter class-
room? ’%5\

o
I
¥

-~F
Y~



T 5WST

This table would help: *-

Number of students B I 16 go| 480

meters 1 21 10l eo0

Number of sg;are

' 1.  16 students-
. 2. 80 students
3. 480 students -

o

T B6WR1
5 nickles

5 nicklé$ are worth 25¢.
3'dimeélare worth 30¢.

e This- makes 8 coins and 55¢ altqgether..
B L :

3

75




e can foss '\'\ne bqskd\m\‘

bacK and forth 3 times ‘
in 10 6e0.onds

0]
®
o)
-

LSMAZ

Number of |
.| tosses

| Number of
: seconds

flelelol M that rate how many tines o -
\753\L \‘;% e toss it back and forth in:
1, 30 ssconds?
o 2, 1 minute?
3, 1% ninute?

How Tdng would it taks us to

L Hodmany ridesfor 75 - togg it back and forth:
‘2. How much for 12 tickets? | Cb 12 times? |
‘3. How many ticket buy fqor . P
‘smﬂfummwa‘ 5, 24 times?

6, 3 timef;s?

o




T
T WSt

This‘tablé shduld‘help:

Number of : ] D -

tosses 3 9 | 18 27 12 24 36
Number of " . o '
seconds J 10 1” 30 | ™60 - 90 40 80 |]-120

I. 9 tosses

2. 18 tosses o _‘ -
3. 27 tosses s '
4. 40 seconds -

i .
. 80 seconds (That is 1 minute and 20 seconds)

€. 120 seconds '(That‘is'z minutes)

, ,,;;;: | - .
T 8WR1

l. 6 rides

wx\jl.so' | . L
| . 34 tickets ) : . :

78




~ gWR]

" USE THE TABLE TO PLAY THE
CUBE-TUBE GAME.

L Cubes |t ]2]3|4]|5]e]

| Corners - | 8 ]le]|24]32]40]48 [

| _Faces 6 |12]18]2430]2€ ]
Edjg.s __1n]ayj3ej4s]eo 72.1

FIND HOW MANY CUBES ARE IN THE TUBE FRUM THESE CLUES.

- Game There are between 40 and 50 edges in the tube

~ Game 2. There are 10 more corners than faces.

.Game 3. . There are 4 more edges than corners. ,

& W N
L e e

 Game’ The number of corners plus the number of faces is 42.

lowct

1 counted 90Y
NNames - .in one
column in
the phone /
book -~~~

COMPLETE THE TABLE,
Columns [ 1 f2| |5] 15
Names 90 | 1270 [900] -

1. ;The telephone book has - 114 pages Estimate how many names'; '
~are listed. . o

2."The name "Smith" fills 6 columns Estimate how many ,:
Smiths are listed.

\)‘ "'_ . . ) . . . o -.’,:., y e




s

T 9WR1
Game 1. 4 cubes.
Game "2. 4 5 cu_besﬂ,i
came 3. ., 1 cube.

',uame 4.: 3iéub¢s.‘

s" b ‘° -
- )‘-
~ s B 4 {
Q‘ o \[5
~ . T 10WCH
, g%»-~ o

‘ . 'a?""‘ )
ER . ] . . -
! ~0lumns 1 2 3} .5]| lo|- 15

[names | 90 | 180 | 270 | 450 ] 900 1350

~
\ N

. There are about 30,780 names in a '114-’pa§é wéelephohe book .
‘. . There are about 540 "Smiths" listed. '




These records

w\‘% times
minute.

'FINB out HU'LNG THESE RECURDS PLAY

Révolutions a5 | 90| 180 | 67%| 120 142y
Minutesi : | 'f 2

12Ws1 | ‘
It costs 13¢ o

. mail a letter

and (¢ for

, a postcard
Number 1| 2| (» ~ '

Postcards | 1l¢ “22¢_ '”"”

Letters: | 13¢ | 26¢ ) }

-
~

4

~and how many, letters did I write?

1

v s

1. How much does it'costlfo maii B letters and 2 pdstcardé?
How much. does it- cost to mail 6 letters and 6 postcards?
I spent $1.22 and I wrote to 10 people.

How many poétcards



<:::7 LT . o o

4

RévOlutionsl 45 | 90 1180 | 675|120 |z1a2%] .

Minutes' 1l 2} 4 .1.5{ 2.67 3.1_7]

4 >
s
.
- ¢
A
Y
e
-~
ad
.
) _
oA, .
i

Taaest

Number 1|l 2| 3] &} s| e |7

)

| Postcards 11¢f,“22¢ | 33¢ | 44¢, »55¢' 66¢ | 7Z¢

B

Letters | 13¢ | 26¢ |, 39¢ | s52¢| ‘es¢f 78¢ Loo1e | - *
1. It ¢osts 61¢ to mail 3“1e£ters and 2, postcards.
2. It costs $1.44 to mail 6 lettérs and 6 postcards.
3. I wrote 4 postcards and 6 letters. .
/ ) E ¢
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L L PR
SN S _";;,
" A light on-a tall bunldlng
~blinks every 1.5 secon%

"COMPLETE THE TABLE.{L"ﬁtﬁ;;.:ff

Blinks /| 1 [ 2

1 . ‘ S DA
{Time - - "|.1.5 sec, | 3 secl;: 21 ‘min. -

¥+ 7

: Blinks ) . o - . ’ v, a2 ‘.y.l_.‘__; .('ﬂ. ‘.

mime - | 1day - | 1week | 1year: |

14wc1 ST SR A
’ .A you. Knou; 1“:»01‘ .
lo play recovds 'rum

a3 -hmes
'-:v per*WNndhz

COMPETE THE TABLE T0.FIND oUT.

e . : e ’-

_ |Q€Qﬂ7
Ahow s many: 1
\recérd& Furns in.

1 I won%ef o -
‘imes’ 1"4&

Minpfes N S R O | .3 I 4 ."6

10 ]

- o o o . S

. e L R |.'>~ : . " . : L

T AV . T e e ? 83 . .
3 . v . . . 8 4 .

\)‘ Ve ] S vy - ,)-‘ . T R .. 7 . ]
o o ) .- F - . . (. '
ERIC g gans P00

PRreiren provacs o enc (R h ’ ’ ’ )

14



A

]

/

K

—

LRI ¢ WYY 2 A
b e v

If you used 365 days. for 1 year, you would get 10,512,000 blinks.

A

1

“ e
[ ST
T SRR
W
A ) . !
S e — - -
i R - P )
et -
% : L P
. o . v .
° .
P i
¥ W
PR
r
. [

o rd

1

)

’20

1200

"y | Blinks -

Time

1.5 sec.

3 sec.

1-min.

"~ 1'hr.

v s
?;"7
e,

s

{ -Blinks .201,608. | 10,483,200

_[‘28;800
\ Time : 1day | 1 week 1 year

;-1'."{' ,' . X . L -'_
LRI Ve X Lo
- s : . - ° : : .

~

Y

T tawct

T; . N -

33 - 100 |133% | 200

Wi
-\
o

WIR

- Turns

R 22 :",'X‘

i Minutes 1 1 | .2 ' 1. 2 g

-~

3




,;Number ‘ o ' : :

| wv—ln ‘grams - e . ' 2
., ‘|Weight of & , 19 | 10 | N . - :
5.;f'Quarters in grams 6 ;2 18 ?‘{%@\?0 ) 6 <ot

"USE THE TABBE 10 ANSWER THESE: ._*f~~_'y
}. What 1s the we;ght of one dollar in nlckels?

- 2. What 13 the welght of - one dollar in quarters?
' 3. wﬁat is ‘the weight of 3 co;nS:whose value is 35¢3
EERTAE T What 1s_;§g;value_of 7 .coins that weigh 38 grams?'.

" The Neato Shurt COmpany makes a Sport
vshlrt whlch has 8iX buttons S

~Numberyof,
shirts 1+ 1

| Number of .
buttons . 6

N How many buttons are needed when the productlon 1s.v
i ",_ o 1. 856 shirts? . . o ' , -

.+ 2. 8,500 shirts? _ , S 1 <L .'.
' 5. ”8 050 shirté? ‘: T T st

How many - shlrts can be made. u81ng." f cow . |
oL o 4. 4, 548 buttons? - . L k - it
. 5. 7,@4 bu@ons? R A ‘W/ Ty

[

£ . . - .. : 85
- C _




| Y R L :

e T 1 SWR 1 O R P ____..,,:'__,.i_._ T‘-‘W BT B _ @ . “ S [ ..,,__
1. 20 nickels weigh 100 grams B | |

4 quarters welgh 24 grams. 3

T 16wa,1

Thls table

. k K '.", K&
Shirtgl— 1) 100f

2

,Buﬁtoﬂ%vﬂ-z-, 1 6 *”6Qb

. -

1. 5100 buttons. R
2.7 51,000 buttons. : _..
' 3. 48,300 puttons. B
# 4. 758 shirts, = %
5. .1234 shirts. =~ -~ .

.

e

EMC — . ‘ I .';;'-

Aruitoxt provided by Eic:



aid hgﬁr;h0ur for babyslttlng After

f mtdnlght he- gets $1.00 per hour.  How much should
~he be paid if he babysat from 8: 00 in the evenlng, °
'untll 2: 00 in the mornlng? - |

? R Hours before i’ Wﬂ:bi F' ' .o
R mldnlght' : A Y Y

Payt .S

S Hours after e b 1 ;./
SR midnight ~ .. - -

b ray o 100

. ‘!§'18y31~y :; ;pt:[L;:fi; '2Hﬁytf}ﬁ.uy;§g;
A field goal in- basketball counts ? pougts A free'
‘" “throw counts 1 polnt ;.~J s o ;q,wm;,. 'gf
~ COMPLETE THE .TABLE, - ’,w I

Fle1d goals | s 26 7'26 17|22 0 o TTe

H.Free thrOWS' 141 9 18 20 26
R — "

Polnts ’ 50§ p

o /”1.-'The Wildcats made 10 field . goals and 8 free" throws in the.

X - first half of the game. ‘They made 7 fleldtgoals and 12 free
e throws in ‘the second half. How many‘polnts -did they score
. ~.. -in the’ game? - :

S 24 The" Cougars scored 70\points.' They made 26 fleld goals. ,
- How many free throws did they make? Loy ‘ - '




R O

¢

T 1781

" Hours before - | = ' ' - :
midnight 1 2- 3 4 .- o o B

°

' o P; o ; K .. . .v::.‘
R y e — — . - ' - Ty
Hours after ] “'~
, | midnight 1 _2 :
- R Y N ;
. Pay - 1000 2.00 ‘.J‘_‘Nv . - ] | »

el
i By o
PR ] N

Bill worked 4 hours before midnight and 2 %23;5 after.

o L
. ¢
V.

R

e L.

Y

-

Fiélﬁ’goaLsz' - 18 | 26 |

il

s a1
R —_——
4%#fig. | Boimts - TN

50 | 61

. . ‘2. 18 freé throws.

r .
A . . . .

BN LRI (R

Aruitoxt provided by Eic:
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l
‘

) .
o'l & n
. ) A O n */:5(}’7
U= A el S
- R = =
] 0.0 . o ’ + .
o; . e L o© -® X
‘O -g ’ L/-\\ i - - B
] . . «
€ g ol = € O =
g 0 - o c D D e
o o . Oim ' D T e '
. - j# , D 4 £ = O (- O~
g il - O— 4+ 3IJ O © O » gg%
N el v - ‘nl o D= 3 £ O 0O © O©
A - Eag &:— 0o o© E E E
- . e ) s B 0O O = ot oo
- C A B L A A
W je ] = o M0 d»
= ~Jo'wlo . (E= D ' ) :
wl ol 2| Cw . &m— -
N ‘U-Q. o E.O . . ¢ . . .
Q. alg o PN!’@ = gl e B =)
v | oL - ' e
RN LACH LY e S — — R !
g 9. " ‘ e “
. . 8 oe ¢ ~ W
L A
‘ o
S & ‘
s
T fhwmwer . p a2 s 4
BEes - d = - . —
Welght of nickel 5 10 |: 15 20"

A T We;ght-ofz 'tf~4 6 | 12 .ﬁ 18 24
guarters in gram @ : .

g USE THE TABLE TO ANSWER THESE
5 1. Wthh is wqrth more: 60 grams in: nickels or 60 grams 1n.
- quarters?'f- T 7, % .
2.f How many qharters would 1t take to balan' the welght of
10 n1¢kels? o - .- - , ,
L fq; ow much ‘more does 75 ce‘ts worth of nickels: welgh than .
. .15 cents worth. of quarter ? N S . ,




st T

Number of .. , \ = ' -
Dribbles 15 45. 60 | 90 135' 3v ) 9

‘[Number of N
Seconds - 10 | 30 40 60 90

1. 90 dribbles o o | R
2.. 135 dribbles - o ' -
3. 760 dribbles - - .. . L
4. 2 seconds . ’ ‘ | ' -
5. 4 seconds 2 o .

6. 6 seconds .

Y - R o"),;' . '; - ‘
A T A . . ' . ~
! - 5
e
[ L
b & J
by . N . .
e 2 4] o
L _

> . -

‘ ~ I.

Ny

S TR e

Quarters , 66 grams is. the welght of 10 quarters. They

--q«*‘

" “are worth $2.50. S

60 grams is the welght of 127 nlckels. They
.are worth~6_0¢_r o '

;8 quarter weldh_48 grams,ﬁ

R

75¢ is. 15 nlckels._ They welgh 75g. o
:75¢ is 3 quarters.' They weigh 18g.

- ’ Y-~ T
e K. . L
. o . .
3 Axy
»t N 5;
— . v
,*' ¢ R .
’ ' -
\
~ )} 90
[ S
o .
1' o
2. .
o ; .
¥ s 3-!-.““ ~ .
.Z" c@ o .. P



?r“;**TThis*screw moves into the“wood 1 centlmeter
. for each 5 turns of the screw

T CUMPLETE THE TABLE

z1ws1 ! ' lvm

’ - F?Z/ 777

S

Tuﬁgsf f, .5 10| 20 |-35| 50 | 60

r— ;

Distance O I
4 " -

: . . W
" . S L
I need to put the screw. into 3 centlmeters of wood How
many t1me§ dd I have to turn the screw° A

A sorew that .is 4 centimeters: long must be turned into a
wooden'block.l How many t1mes must I turn the screw?

S I turned a screw 25 tprns to put it in the wood. How lono .

“hls the screw? o . 'TF‘ -
o “..(‘:' ,,sﬂ R ’ E . TR ) v
ZZWR1V A | : ) ;::. | »v ) o R ‘A‘ . '

| .Ieight~oTﬂCbmmoanolidsAjn Grams -

Lo
. . " .
I . .
N -
AT P . . : ~D/
- N - . .

B
. ,
Wy
B ’
H
1.
2.
CC
3.
L
1]
@
VS

Volume in. cug:c ,;’i“'hgﬁé : '3 v”}lf: 5| 10 " :_ o |
centimeters N , . : . ,:A

L% 677 S . S ) “." o ) .
water o m."'y.'. . 1/ e '.2.’.’ :3 . . 4 S 5 . 10
. ’ R e B - i h:‘;'i;_‘,.,'»‘ —— 4‘ - .

“Iron - . {-7.9| 15.8):33.7|31.6 [39.5]. 79 .

Goldfy'fiahyli' “19.3 38.3’ﬁ5@&9*72‘2.'96:5 193
0 v | v ..
1. What is the. welght of 1 cubic centlmeter of 1ron9'e | !
"2. What is the welght of 6 cublc centlmeters of water?

'3. "A block of" gold weighs-60 grams. Estlmate the volume of

the block in cubic cent1meters.~ L
?' - . . E A\ : - .

( . . . .
- . B - o



T21¥81 o | SNSRI
‘__ tfurns..___ .5 loi,lo _ 35 50 ;60 N

4 71 10 12

Distance 112

1. 15 turns | _
2. 20 turns . , ’ “: %.V1
3. 5 cm '

. . , Y

- .
.-

Tt .

. . 1 ) / 7 . 9 gralns. ’ ’ < ‘ . i
. 2. 6 grams. ~ |

b

'féi 3. A-little more than“3 cubic

Ry

ERI

PAruitext provided by enic [



i At your age R S
Bloo worth o l.fe) ' o
insurance . costy o
56,50 q
. month,

<

fHow.much &i}lvtheée.amouhjs offlfféifﬁgqféﬁ§é d6st? ’

Amount of | P — o — R
. $1 : 15,000
[ ourence | $1000 $2000 | $10,000 | $15,00 525.000

Monthly - | . SR ' : o ]
Jtomemy | seso | AL
. D ) B
) ; R
70 T
J . ..;j PR : . S : v
R . S .
B B = }
B Y . .
v\‘,@__ 4 L
. S . .L L ¥
¢ - . . | m,-_’

géﬂvﬁﬁ*Férrls whesl- fi?ps a grouo of 24ﬁneonle every
5 minutes. How loig will! 'you have to-wait in
Ilne if ‘there are 85 oeoole in front of you? o

e

. LI
.
i .
. s .
« o ¢
¥ % » . . .
' P - ‘¢ ® " .
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Teswct

.$65..00
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.
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”-wOf people
& 6f you

R AL,

* Hou L ot wali.at least 15 mt@utié;.
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T 5
B R 4
2oWB1 . G u§ :
. ' S )
‘ ' -

" The average growth of the dlameter of a red wood

tree is 5 millimeters a year How th|ck would a
_tree be that is 100 years<old? |

]
LI
% .
) , _ '
] /
G o | &
| PRACTICE 'rmr: \
3 Mon\ .
~ Tues - ‘3 hour
| . wed ' eachday
WAKE A TABLE"T0 SHow THE_ PRACTICE TIME. | Gt s o]
, ' ' 50.1" lZ “\OU.V‘ )
A 'Number of - o ' ',-.~'.;,s.‘ ' : U ‘
weeks, ¥ | 1] ‘2] 3| sir | 00 } - ¢ L
..|Hours of® | - o AE ERER] T B S v
Ipractice . : ~ | 200 i
: - .. - * o S <
& Bill has followed the practice schedule for a year. .
. (52 ‘weeks). ‘How man'y hours has he practiced? i RS
e 2. " Barb has ‘followed the practice . schedule fer flxge years. '
'3 How many hours has she pract:.ced’ o :;g
| " @ 3. IBrad claims he followed the- pract:.qe é’éhed le and gy ,
% . practiced, 48 hours ‘to: get reaar f&r"hls rec ital. How R
‘ma weeks did he take? ' * \\ g - 7
. o v ) . . - \ g =
2 . 95 . | -
a . JER . ‘




g R - o . a |
. .?ﬂ .l - . . ) -

T zswa1 BT ':flj -

‘THis table should help _ .
_____ Aga _‘1n__. . I . N i Chrivall Rl ”..l__m,, e e e ; —— e e
years 1 2 3 19/ |100 ' - .
_|Diameter in . ) . ’
,mllllmetersL— 5 | 10.] 15 |’s0 |500 ’ B
The 100 year old tree is 500 mllllmeters across.
That is 50 centlmeters or half a meter.
e e - ,
- (e

t . ' ¥ .
Ve
- -
o
’ ..
Sy
\ . v -
] C e
3 -~ »
-
| v
“tay =
LW
N
« ! - a
S . )
20y ' X v
o e - . . - . B ) i . -5 -
’ 4 . 0 ) . . >
R . - ' . . . . . .
- . . R v .
. K . 0 . b4
T 26'3?5- ' . : . - = k
. i o L. - ' ~ o ° ' '
T, N . .
— i

. . . : . - - " . _. " : ' * . . “'a:l
o - INumber of’ NE SURREE R : : 1. : . P
. [weeks '~ 11 2 3fp.50q 1200} - . . TR
t :, N = 2 ~ . S * ,.' ’ L e . : - [
Hours 6f ~ |~ . IO . T 1 7 & o . S
practice | ‘4 s\ 12| 200f 400 |- .o - ek

l.n 208 hours @ S _bh‘:A' E S Q',;, i "','.i o

" 2t3 1040 hours - = . R Sl
3. 12 weeks ' . )
. . . ’ ¥, , Q . : v : @ ‘._. “ " .
N . ' . S oo
i ' . '

. . 3 -
’ .

v AP R ¥ SR . e
Fulloxt Providsd by ERIC

AT . bR B . . X R . Lo ) ‘: o ‘ T L ) o R _'_ K -
. B ! : . . . ! T T . e . T DR . v
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2TWR1 S T T
e \ ~ WIND CHILL TABLE _
; . . rReadirigs When the wind blows at/ the m.p.h.
. below, it reduces temperature to:
. At 8:00 the T - =F .
thermometer ' | calm 5] 10] 15] 20] 25 301 351 40
o e 420 20 16).-4] -5f-10f-15]-18]-20-21
reads +10 . : : - ; ,
' . . +10 10 1 0] -9}-18}-25}~29]|-33]|-35.{-37
| ?nd the,.w'"d 0. 0 . | -5]-21]-36[-39.}-44|-28]249 [-53
— .- I8 blowing -10 - Jl-10 . |-15}33]-45[=53|-59 [-63 |-67 |-69] -
15 m.p.h., - -20 =20 =25 |46 [-581-67 |[~74 |-79 |-82 |-85{
| —— _

7 [

What is the wind chill temperature? . )
By 10:00 the wind increases to 20 m.p.h. How much
. wind chill temperature drop? . :

does the.

3. " By 131:00 the wind decreases to loﬂm;p,h. How much does the .
wind chill temperature increase? /. o '
. N 2
. /

. /
’ / hE - 2

B I's .
g , |

' Our ‘school can get ™\/ B |
Lalculators for P14 =each. ; , .
=\ They come bored 2, -

calculators per corfon,




<

T 27WR1 IR AU TR

‘ 2, 1° drop_‘ (the wlnd Chlll temperature 1s'-25 )
3. 16° rise (the w1nd chill temperature is -9°)
- ) . ’ o S @
. L ’ \.- /:/
o A |
o A
“3. 7,;;. . )
A ‘
o lach carton of 12 calculators costs $168.
"" 12 x, 14 163 T ) .
) Car,t_ons:f"‘ 1 1 ) s ot
Cost - |.168 |1680 | 840 ] -
.$840 Wlll buy 5 cartons of calculators. 7
\ .
“,/
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| calions L o 2 3| 4 s
. i | quarts 1 4 8| 12| 16 20
-~ ’ ! - ] ‘ ’ |
© Leines o L 2| 2|/ 8| 16 -2¢] 32| 40
e “ﬁﬁﬁir‘“*l‘f” 2| 4| 16| 32] 48| 64| 8o -

_For a punch rec:.pe you mix . 5 quarts of fruit juice w:.th

. 7 quarts of ginger ale. How many gallons of punch do you
-~ . make? = ‘ :
e To- pa:.nt a house you need 15 gallons of paint. You
- . '+ already have 8 quarts. How many more gallons do you
g ) «.need to buy? '

— v

The>squars root of 8.is 2.83. =
USE THE TABLE TO FIND THESE SQUARE ROOTS:
J .20 .

1. 10 |
16 -

24

4.
5.

6.

5

'-3’-';‘:‘// ’
3OWRT ‘
P S
Tabla of Square Roots o |
| N =f;¢‘N" I I N |VN N | <N |
1 1100 6 [2.45 |11 [3.32 [[16 |4.00-
2 [1.41 |I-7. |2.65 |12 [3.46 ||17- [4.12
3 [1.73 8  |2.83 [/ 13 [3.61 ({18 1(4.24
4. ] 2.00 9 -|3.00 (|14 {3.74 |[19 [4.36
‘L. 5 [ 2.24 Jt1o (3.16 [[15 [3.87 |[20 [4.47
_ :

8
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1.._3 gallons

g.~jE§>gallons

T 30WR1
T

};; 9 = 3w“~
1. J200 =

v {16 =4

o

A'.h

we 75 & 2,24

1. {10 =3.16
v {14 = 30740

47"

(12 qﬁar;s).
(you already have 2 gallonsi.

L]

N .

e,
o
PRSP
<l
v
.
p
1
.
' i
-
]
P
/ o v

-
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. bL057

we can find the
distance by Mu.&‘hp“)'l

I-climb of a4 3¢ an \c |
round ? -

FlND THE ALTITUDES FOR THESE EROUND DISTANCES

travel

xou 25 feet
evolution of fhe 'wl eel

in.a circle

;-

Distance

-125‘.

¢

Revolutions

1

Ferris wheel?

How many feet do you travel around in 8 revolut;ons of the

or each

A

?Found ., 700 meters }QO meters 200 meters | 350 meters 650 meters
|Altitude | 4039 m:. [ 57.7 m
- 32wst
.~ When you rlde a Ferrqs wheel tha} s 40 feet hlgh

€

| About how many revblutions would you have to take befOre
you traveled 5, 000 feet? :

If a 35¢ ticket’ allows you to rlde the Ferris wheel for 8

revolutlons, how much would you have to pay to travel a -~
total of 10 000 feet? .

Yot
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. n 5 N
Ground distancel 700m -

100m
lfr403.9m.

Altitude

°
Y °
Y
’ . N - :
¢ P . .,
‘ N 8 e
4 . . . H -
» ’ S
. " ;
e b ) e
v Tl
" i B
. : P
[y M
’ L
‘ 1+
s ’ - . % R
’ v \ .

T 32681 g - e

This table wouid help you:

Distance | 125 | 1000 sooqLo,ooc o | S

SR
-

Revolutiong 1° 8 40| 8¢

1. 100 feet
" 2. . 40 revolutions - : : T _ “ t”~ l
3.% s3.50 - L L

-

RevolutiénJ . 81 80 ‘ ’

Cost . | 35¢|350¢| T

! “
. .
’ . . u‘ v’ o 4 - . !
. . - . . . ’
. : . . ] . . .
\ ‘. . . o . , . . B
., . . . " . . . . )
‘ P oy ) M . o . . X
. . . N . . o
' . - <
4 N .
f
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In the game Ui Sergeant-Major, the scores of some
players are UP- and others are DOWN. As many DOlnts
are UP.as DOWN. The DOWN scores are circled, - -,

COMPLEIE TLB kaLé

é@f"

Lynn - .:. ‘\ RN\ ‘ . 5. 2 3 o "
A £ Q{Klm.;";—f.u. 3 2 @ 3 '
Caro‘i'ﬁ e 1) @ 4 @ 3

R - \'a.*'f" ;
. P I . ,gc-.

u'-‘:" . . LI ' f
A YN aﬁ:L\is Lynn s total score?
,,.,-,F,

S 2. '-’?‘What 4g:Kim' s tota.l ‘score? . (‘ |
3. What 14 Carol s }6tal score? _ _
s \m‘. Voo .
a“. a e . = . ,/. '

L f 34WST PR
g ¥
LI o (o] ,ﬁ
SO VE " Y
'[ sﬂ ~ o “5“8'_
Y ~ ® @ JE
= o@ : ' g 8 0zo
4‘%,0 . - - 'dgm
[ R | . o
BN R ~MNST % 3 g
fi 3 R 0. 0 AN g
i . » NN "‘\\gnﬁ-u
«  AH.DB 4. e oy
N u W og N
, © o  duw
g o Blw
. 3] .U"':-ol.,q'm .
i i | ¥
' R
.Et\-vEm-gm O o
wl| o W oW T Bw
o] o 20 20 Ounig o
o]l = 00 00 SmMmO
s 0 T Nl (2 e
~ g .
w| = - _
/ . . -~ N Fm
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T 33WS1

y iF:_v — o
Lynn 1 3 (6)) 4)) 2.1 3
Kim SR ) 2 OF 3 0

Carol . @LQ

1. Lynn's total is. 1l.
2. Kim's total is 1.

3. Carol's total is @

LY

log

¢ Q..
T 34W§1
Slices.. | 2 4 6. 8 10| 20
| tnches > - 1 2| 3 a4l .s| 10
)
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Weight sf'Cohmonqu]ids'in Grams

— — — — —
, | zoLume in cubic Ly 2 Jsja Is [
' |PinciWood 5| 1 | 15| 2 | 2.5, 5
| Water . . 12 s s f 10
Iron 7.9 [15.8 ) 23.7 | 31.6 [ 39.5' 79
. Lead’ ' 11.3 {22.6 | 33.9 | 45.2 | 56.5]113

\
S

1. Which welghs more,’ 10 cubic: centlmeters of iron or
' - 19 cubic centimeters of lead?

2. Which welghs more, 5 cublc centlmeters of lead or
: 10" cubic centimeters of 1ron° - /

. 3. How many cublc centireters of wood weighs the same as 10 cublc
centimeters of -water? '\

. T
v ' 3 ¢
° A
N . .
P . "
. . .

3WRL . .

A 727 Jet takes off
‘at a 30 angle of climb,

Thls table shows the alt tud d h
from the take off point. 'tude an the grOUnd d'Sta"CB

. Altitude }. 57.7 m | 115.4m | 173.1m [ 230.8m | 346.2m
| 2?222§¢e' | 10m . | 200m, 300m | 400 m 600 m

"hat is the altltude when the plane has traveled t  g}ound
-distances; _ i . AITRG .
L. 300 neters? 2. 600 meters? © 3. 800 meters?




T 35WR1 |
1. Lead. 10 cubic centimeters of iron weigh 70 grams.
| " 10 ‘cubic centimeters of lead weigh 113 grams.

'2. Iron. ' 5 cubic centimeters of lead weigh 56.5g.
10, cubic centimeters of iron weigh 70g.

_3; 20. 10 cubic centimeters of water weigh 10g.
' | . 20 cubip centimeters of pine wood weigh 1l0g. -

-

T 36WR1
1. 173.1 meters.

2. 346.2 meters. . . ' v
3. 461.6 meters. f '

106
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Your table could include these entries:

Bags 1 2 3 [ o] 10] 100 1000
Cost 18¢ | 36¢| s4¢| 72¢[s1.80] s18 | s1s0
Income | 25¢| soe| 7s¢s1.00]s2.50] s2s | s2s0
Profit gl 14e]| 21e| 28e| 70¢] s 7{s 70
R
L
T 2RB1 - N
. .
:. Miles - ‘i% _ 3 | 9 45
‘Houﬁé 1 |2 6| - ~

 He can paint 45 miles of dqtﬁed lines in 30 houfs.

.

-



I;B1 | | |

| my dad wovks ¢

1RM1

: ‘We can ’bu.y
popcorn at (84)
d bag and Sel|

it for 25¢"a / (I /TR
|

bqﬂ"
"o MAKE-A TABLE WITH 5 MORE ENTRIES. . -

, on
. < . .
Bags 1 S
" Cost 18¢ <
o ¢ . | ' j .
Income 25¢ <
Profit 7¢] - 3 '

hours a doY .
painting these
center “dotted
lines on
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R Game 1. 4 cubes
-Game 2. 3 cubes.

Gamg_3,f‘10 cubes
Game 44 2 ‘cubes .

‘!\"'



w 3RR1 ‘-i | .
USE: THE TABLE TU PLAY THE e

al

CUBE-TUBE GAME. e L =
Ehmber of cubes 1l 2 3] als] el
" Bumber of corners | 8 |1¢ |24 |32 |40 ]4s

fNumber of .faces 6 12)18 24|30 |36

Pumber of edges |12 24 [ 36 | 48 |60 |72

”X SOME CUBES ARE IN A TUBE.: FIND‘HUWn MANY CUBES ARE
. THE TUBE FROM. THESE CLUES. S
Game 1. There are between 30. and 40 corners in the tube.

Game 2. There are between 10 and 40 corners, between 10 %pd
20 faces, and between 30 and 50 edges.

Game 3. There are 60 faces in the tube.

Gapme 4. There are more tHan 10 faces and less, than 30 edges
o 1n the tube. . .

. :
4RR1 '
* WIND CHILL TABLE
Readings When the wind blows at the m p.-h.
\ || below, it reduces temperature to:
3 calm | 5 ] 10} 15| 20| 25| 30f 35| 40
+20 7 20 16 | 4 -5]-10]-15}-18]-20}-21
+10 - v 10 0 | -9]-18] -25] -29}-33| -35| -37
0 0 [-5 |-21} -36[ -39]| >44| ~48| -49] -5 3]
~10 -10 - |-15 -33 ~-45] ~53} -59| -63] -67] -6

The VII”ChI” temperature is 25 when lt S +10 and_
he wind is blowing 20 miles per hour,

FIND,THESE WIND CHILL TEMPERATURES.

\\Temperature is +26'witp‘a wind of 10 miles per hour.
2. Temperature is -ld'witg a wind of 15 miles per hour.
3.  Temperature is 0" with a wind of 5 miles per hour.

4. Teméerature-is -ld’with a wind of 25 miles per hour.

e 1'er., ,.'..' e adiemaat '-...-n\,»-.\.-’. SRV T ,. B 4




T SRST.
Thfi table should help.
d Miles per _ | E
-hour 15 30 | 45 | 60
7 “Feet per -
gl < 22 | 44 | 66 | ss8
No. of sec. 1 2 5 }.13.6
No. of ft. | 22 | 44 | 110 [300
1. 110 feet B
2, 13.6 seconds o DA A
3. 1 second Q’ " '
'4.' 60 mph. .
. - o
-T 6RB1
‘ N .
Miles 60 | 120 | 240
\Gallo_ns | 1 2 4
It will take 4 gallons of.gas.
B ¥, N ‘
. L
’ 2
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Ty
k

At 15-miles: anﬁbour 4 car travels 22 feet in one

& _second -
i 'S _ o v ‘
(; f 1. How mény feet does a gaf going 15 miles an hoﬁr travel in\ .
| 5 seconds? . : S ‘
2. How long does it take a car g01ng 15 miles an hour to
travel 300 feet? L %, ’ , ’
3. How long does it tgké'a“car goiﬁg 30 ﬁiiss an hour %6
travel 44 feet? 3 |

ik

4. If & car travels 88‘feet in oné'sécond, how fast is the

car traveling in miles per hour?

-

6RB1 . - - B - | g;

mean llons '
¢§ é;s will 5;1;k2

c +y? P!"‘ol

E:' i’

v)' lone. |

“M"ld

.hﬂﬂes_' ; {

Q , o | | 112
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245'minttes==_ )
., Start the roast at 2: :55 to eat at 7:00.
' Start the roast 70 mlnutes later for RARE.

for RARE.:
Start the roast 35 mi utes earller for WELL

2:20 for WELL DONE. {

; | ’
‘T 7RB1 S e
‘Words | 340 { 3400] 3740] 4080 i
Minutes 2w, 1| o12f - :
Itgwiithake:about 12 minutes. - .
- ,, t
. ™ s
~ ) ’ .’l ¢ ( ‘.
Y. . a 3
T 8RBY S D
MEDIUML-35 mlnutes per pound.- S
TABLE FOR MEDIUM | ‘
* | Time 35 | 70 | 105 | 210 | 245] |
Pounds | 1 2 3] 6 7
‘ = 4 hours and 5 minutes.

Std§E at 4:05

‘DONE. Start at



/GosH!  How
ONG Wauld IT-

e, ': : - . ’ ) )
. 8RB
L ’ '\“ ou Cook” +hjg
_ ;’i",l, the barbece
YO v 2 Tts 7 Pounds gy
‘ v‘O"\- Yo eat a4 700
=

Timetable for spit-barbecued beef roast

Rare | - Medium . - Well

25 minutes .| . 35 minutes 40 minutes .
per pound . ~ peg pqund per pound -

114
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$mall Dogs| 8 |*wv2 | “a| 6| 8. &+ ..

Big Dogs.' 6 3 - 3 _5 ._r. 4 . . ‘. r'::..{,'. .~ _" s ":;r‘

y 0 Jeas  frof e s o) e | LT

Cups . . 34
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° " & . ‘.
. . . 3
v
-

o
1

13

v (VB e
6

1ol | .

34

N

v

L4

B L
'COMPLETE THE TABLE, .

-~

5

‘| small pogs |-

"

Lt

| Big ..'IIJOg.sV N

| Cans

0L
Cups - -

| Joes Fik-iT 3hop
o Time EsTimates

L S, e .

D ¥
| Jeb " Hour’
-} Replace “qizme .. 0

Repait rurhe 2.

'\_:J "a ' - Pu_@“}' .raf(_\\\e, . 8
AN PRy m i .
v [Replace. Z""‘P -7

NS Repaw imP i.9
P | Pait Zimp - 3

Mr. Brash had to replace 2
.gizmos -and repair and pa|nt

-y

a zimp.

1. How lon d|d Joe s .
Fix-it o est lmate it
‘would S

."... . + .
E ) . . . K .
S ; LR |
) : o L Ao b
o T oL . c

2,

3.

Joé's char )
What did %

A new glzmo
What was Mr,

Cbill?,

s $12

cost Mr

costs
Brash

per_hour,
Brash?

$16’tota



©L . T 11ReH

.
’

o [oemren -

3.ﬁ

~{_Buying :

10

20

) PO

N 4

\

)

|apples

Selling

15

45

?fAﬁbieé -

12 |18

50 :}. 75 .|~

“

|erogie . |25

. [Priginal
< N} ‘Price

10.00

Sagg briée'

7.50|

12,501 1,95

cn 117 75

.75

;9;38~1:4q

16,88 |13:31

&
A

u7

L.



APPLES

| BUYiNG PRICE

" [APPLES

s

10 ‘,e. :

| SELLING PRICE |

M
NI

/:wénofkm
&, MUCH . PROFIT T
Sl Wik MAKE WHEN

"SEU. _© APPLES....'

|

APRLES T ¢

PROFIT | ‘

‘We get
25% 0$F
+he marked

.....

' Original”
. ] price

10.00

1.

0o

12.50] 1.9522.50

17.75}

Sale price

"7.50[

.75

N
-,

- fem

it




T 13RMA

Your table could héve.thgsazentriES;,

%
Length | 6 | 1.2 § 8- | 12 | 24 |240 |so0.
| wiatn 4 )20 |3 2 1 | .1 |3

'The"length times wi@th must equal 24.

-

l. 100 cans are wortﬁ 60 cents.

2. You would need to collect 1667 cans.

J

-

v

' ' /
L )
, -—
- T 14RB1 5
 Can§ _.. 25} 100] 1000] 1500|1667 ]
Pourds 1 al 40| 60]66.67
Earnings | .15| .60 {6.00}9.00]10.00
§ 5

/ .




2

2¥4¢n1

MAKE A TABLE FOR OTHER 24 SQUARE CENTIMETER RECTANGLES

13RM1

make the length 6 cm.and

the width 4 cm.

-~ One way to get a 24 square
~centimeter rectangle-is to

" | Length
Width

. 400°01§ udes 0} 398[(00
-~ 0) pesu nok p|nom sues -
~wnuiwnje fydwe Auew moy 7 -

-0

7 3Y}JoM suBd unUlWR|E .
~ Kydus g| eue yony Moy |

120




T 15RB1 Co L '..\_ : ' .
3,000,000 buttors. S

. One team used this fable: B | _ '/g

Number of

|buttons - 33000 [3,000,000

Weight in . o S
grans- -1 1020 ”1,ooo,ko_oo‘ | .

' . I
lkg 1000kg

- T 16RB1 e
B -.Yqﬁr'answers°w11; depend .on theﬁinformaﬁion you gather.

o

121




- (1% ook me 1§

| Seconds To build o
this paper chp o
, C\\Qur\ P

NORK WITH A PARTNER AND BUILD
- SOME- PAPER CLIP CHAINS,
-~ THE TIME AND RECORD T LENETHS
T DRE

. .Time e

115
'sec,’

-'Ghain,7'

“:MEst|mate how 1o
- 'take to make a ¢
75 meters long

Now Ie'rs
Measure

oo A
9
[N :
J
‘ .
.
)
-
N
., 4
o)
Y
) S

1YL

=)

6% 000L si uo} orlujew y

[« (=

 ;6-1 ybrem suocyling esayy]

(=)

5‘¢u01 Oleew.B u! 8Je suollng Auew moH

|t would
aln whlch |s
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T 17881
‘The desk is 8lcm wide.

Notice that the differences are always 81.

/
T N - 5
1. 9000 grams. | ’
2. 9 kilograms - e
3. -3 boxes.
R
Y

124
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17RB1

}John"used'a,tape measurekfhat wésvbroken fo méaSure
.- the width of his desk. He measured the desk three
times and reported thls data How wide -is John's

desk? . »
.é £ ; . N .Y - »

Qne side o l4cm | 18cm | 26cm

' desk :

Other side of  lg50n | 99cm flo7em

desk : —

. | ‘ . R ) - (‘

- 18RS1. 3

‘i!»‘§!®

| ;One week the Neato Shirt Company used 27 000 buttons; 
'Three buttons welgh a gram |

‘ 1é' How many grams do the 27,000 buttons we1gh°
2. 'How many kilograms do the 27,000 buttons weigh?:

3. The buttons are'backaged-inv3-kilograhjhoxes. How mihy-
- boxes are needed for 27,000 buttons? - :




T19RRT

10 Centimeters. 

110 centimetérs. —

80 grams.

30 centimeters.

4

-~

T 20RM1-

Your table .could include“thése'entriesz

.(-.

; Days

1

2

3

4

| —

2

16 |

32

|/

I
i

o
o
PR

-

"Paggs read 11

10

11

512

1024

12

2048

126



19RR1 - S |
¢ . ) N X . ] - ae 0 . '.
o ?. Weight in_ 10 | 15 '35 30 50| 75}: 100
— M}  jexams -~ T
. 1 : : ' ' :
3 Length of | 541" 66 | gos| -90] 130] 180| 230}
y spring (cm) ) i ' _ .

% We measured the length of\the sprlng
1  for the weights and put the data in
5 the table,

E. USE - THE TABLE T0 ANSWER THESE UUESTIONS.
1. How much does the sprlng stretch for each 5 grams we added
to the weight? - - . .
S 2: How long would you expect the sprlng to be for a welght of
' ' 40 grams? _ ' .
3. When the sprlng was 190 cm long, ‘how much welght was on the

. sprlng? . :
4. How long is the sprlng when there is no welght placed on it?

S 2RMT 1-_ =: o

' @ e~ | .I will reqd 'i'wtce N\

: - ' -as Many Paqed eqc.\\
day as I did- 1'\\e.
day be‘fore.

" MAKE A TABLE WITH 5 MORE ENTRIES, °

. . , v S oo
I N ‘ - . -
. _ ' S - e v
. . . . N . N . . ."’ [ -
Days S 1 2 31 : Lo fﬁ*i’
. ' & ¥ ce EE
. - 3 ' ¢
. AN y
.
;

JPages | .| .| _’ l:i :
L_read 1 ? 4t .
' 5




| Your table could have these entries: ‘ ' a ‘
“ F } N o ) 44 " R : M . L - .
| Number of clips 100 |1 |2 |'3 -| 200|300

. Number of grams | 105 | 1.05} 2.1%| 3.15] 210 | 315

! .

T 22RR1
2. 1209 e '

 One team notlced that the sprlng stretched lcm for every
2 grams of welght attached to the sprlng.




The fllled box of paper. '.f?

- The empty box welghs 2. 3

'MAKE A TABLE WITH 5 MORE g@ﬁRls‘

o ‘Number of clips . .

| Number of-gréms’

cllps weighs 107 3 grams,

grams. '; L %'“

<

I
Y
t e ;’
‘ - "‘.@: ®
. ‘m_& N

80 grams?

. -

did we use?

‘51295?.?

",2. We stretched the spring to 50 centimeters.

USE THI'S DATA TO ANSWER THESE QUESTIONS.

1. How long do you thlnk the sprlng would be w1th a welght of

How much weight

- S

P
st
EENR

le ’
m SO Y R
Hers is the ‘ddta our sciencg
mlass,collected R
*  [weignt @] 50 ] 60 ] 100
Length (cm) | j!_5 ) 2.0 1. 40,



T 23RC1 -

Distance . ' _

Across 1 2 3 6 10 15
|pistance B | o .
"{Around - 3.14] 6.28( 9.42118.84]31.4 |47.1

“Tewst - . &

shirts | 78 | 85 | 79| 97| 'e7 .
Buttons | 390 | 425 | 395 | 485 | 435
1. " 2130 buttons were used. R <:

2. 2870 buttons were left. : :
3. Yes, they made 426 shirts and their goal was 425,




;‘ﬁgﬁi

. ‘COMPLETE THE TABLE.

Distance 1 2 3] 6] 10 15
across | _ T ,

3,'f ’Distanée 3;14. 6.28
- ground_

- THE NEATO SHIRT COMPANY MAKES A
PULL-OVER SHIRT WHICH HAS FIVE =
BUTTONS. COMPLETE THE PRODUCTION
~ TABLE. |

“|shirts | 78| 85| 79| 97 | 87

Mon. Tues. Wed. Thurs. Fri.

-

buttonéﬂ.'

'_1; :Hoﬁ many.ﬁuttons were»usedtduring/the“entire week? .
12‘{ The Neato 'Shirt Company had 5000 spott shirt buttbns at the.
. . . beginning of the week. How many were left at the end of
_-the-week? _ ‘ ' : _ :
3. The production goal was to average 85 shirts each day. Did
‘ they make their goal for the week? . S :

L

131




T 25RB1 . RN |
Station | 6| 32| 160 | 192 208] = -
wagon ‘ . _ ,
|Gallons 1l 24 10 12| 13 ’

'Wé can .go 2681mileslon 13;§éllons of .gas in'thelstation wagon. -
Small car |- 26| 52 | 208 |

- |Galions 1l 2 8} - Sy

:

We can go 208 mlles(bn 8 gallons of gas in the small car. We
. save 5 gallons of gas by taklng the small car. ’

T 26RB1

.}mm¢@msmmdmm=»’ ) - o -

10cm | 15cm] 20emf 25cm]

"so” oo f[150 [200

l;_ .Addlng 10 g of. welght stretches the sprlng lem. -
Adding 100 g stretches the spring 10 cm. - '
.The spring is 25 25 cm ‘when it holds a 200 g welght.




Our Small car qoes
26 mides on d

ﬂe SPring'- 15 10\
Centimeters” long

18492
18362

| [The spring 13 15
[ Teentimeteds long |
| | when # holds “loo

Y \gramg,_

o how many gallons of gas do we
- save by taking the small car
- rather than the station wagon
- on'a 208 nile trip? w-{ .

- o N
. .
. i SVt
—r

o Tong'¥ill the soring by
when | attech 2 200 gram weight?

oy
b
. ’ PRI .



T 27RR1

1; 64 is.8 squared and 36 is 6 squarsd._
. 64 + 36 = 100 i |
2. 169 is 13 squared and 144 is 12 squared.

169 - 144 = 25
3. 9 is 3 squared and 16 is 4 squared.

A
9 + 16 = 25
- .
>
. ) ‘ . '.
T 28RS1 -
R »
- Worked | .36 | 38 | 40| 42| 44| 46
Paid | 36 | 38 | 40| 43| 46| 49
1. $242.88 (She is paid for 46 hours). \ i°
- 2. $258.72. (She is paid for 49 hours). V "
. 3., $200.64. (She is paid for 38 hours).
. "“ ‘y B2
A ‘ : )




27RR1 S 'i*'. L
" Table of Squares | |

N NxNl| N waxwf] w wxnl wl N ox x|
1 1 6] 36 11| 121 16| 256 |
2] 4 7 49, 12] .. 144 17 289
-3 9 8 64 13| 169 || ‘18 324 |
4| 16 9l 81 i 14] 196 || 19| 361
5. as || 10 100 J_ﬂ ais 20 ‘ﬁf.a

USE THE TABLE TD SOLVE THESE

}. Find 2 squares whose sum is 100.
.2, .Fina 2 squares whose ‘difference is 25.
3. Find 2 squares whose sum is 25.

28RS1

-+ Mrs, Stitch makes button holes for the Neato Shirt

- Company. When she works more than 40 hours in a

" week, she is paid 3 hours for working 2 hours.
COMPLETE THE TABLE,

'~ Worked 36 | 38 40f. 42| 44| 46
- Paid- . [36 | 38] 40| 43

Mrs, Stltch is paid $5.28 per hour, When she works

42 hours a ‘week she is paid $227. 04,

1. What is she paid when she works 44 hours?
2. What is she paid when she works 46 hours?
3. What is she paid when she works 38 hours?

1360 _




, T 1681
~This‘iab1e should help:

3

a

mi T ' 1 minute 30 miriutes
Time o 1 second ml*

LInches : 7.5 450 13,500

‘13,500 inches
* That is 1,125 feet.

T 26B1

The wheel goes about 6.8 feet for one turn.
- There are 5280'feet in a mile. |
. 5280 + 6.8 = 772.7
- The wheel will. go around about 773 times in 1 -mile.

]
»
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T 3631

Rich either had 65 cents or 70 cents.

If he had 65 cents he could buy.
'9 piedes for 15¢ and :
35 pieces for 50¢.

If he had 70 cents he could buy: . i

~ 30 pieces for 50¢ and

14 pieces for 20¢. _ _

. - . i — . . l /
‘Pieces -3 1. 6 9 12} 15

Cost 5 10} 15| 20| 25 ‘

Pieces 7] 14| 21 s 28] 35

Cost . | 10 [ 20| 36HT40]| s0

T A ey e $F

T 4681
Lrrsq'uax:e feet | 30 }- 50, 56 o 42
| skeins | . 12 20 23 17
[ cost | sis.e0 | s26.00 | s29.90 $22.10

1. 20 skeins
2. 23 skeins
3. $22.10




3681

N X.a‘

Rich bought two kinds of candy. One type sold at
3pieces for 5 cents and the other kind.'soTd’ at

7 pieces for 10 cents. He looked af the tables he
made and said he had eﬁoggh money to buy 44 pIBCBSu”f

How much money d|d he have? PN

Pieces 1 3 | a | ‘Pieces | 7 B ( g

Cost .5 ' z | Cost : 104 - . b Y :
4631 BT Lo

is o fect b 5+ Cmé it will

"l"oKe. 12 SKQ\V\S of YQV‘V\ --- and
achy _skein Costs. ¥(.30.

| _'" | The afghan Im é- 'l'o maxe o
. _ e . SR

¥
Stjuare feet >30 (
'Skeins.‘ - 12 . . ? o ' '
Cost ~. §1$15.60 | N \
1. How much. yarn should I buy to make a 5 i:'eet by io’ feet
afghar?
2. How many skeins are needed to. make a ¥ feet by 8 feet
o afghan? . ) - v,
3. How much does it cost to make- {/6 feet by 7 feet afghan’ '
. V ‘ . ) ) ‘ . ,. . ‘ - .. ‘ l- ’ ) .. \-_
Q . i . :. . 141 !




T 56M1

Your table éould'include-these entries:

-+ kilometers | 192 | 10.5) 39.7] 882 | 105 | 210 | 315

Liters 18.3) 1 3.74 84 | 10] 20} 30
T 6631
;

Dimes 1 | 2 3 4 |5

Length 1.8| 3.6| 5.4 7.2] 9.0

Quarters | 1 = 2 3 4 |5

Length 2.4 | 4.8] 7.2 9.612.0

1. 10.8cm (3.6 + 7.2)
2. 3 dimes and 2 quarters (5.4 + 4.8)
© 3. 1l4.4cm (3 quarters and 4 dimes)

142




l8.3

(T drove¥-192 K-low\e'l‘crs
-%ﬂﬁ dF gas

" MAKE A TABLE WITH 5 MORE ENTRIES.

Kilometers| 192

Litersy- 18.3

~

.
2 o BRI
- R
.

Rl

I

LINE P COINS AND COMPLETE THE TABLE. .
bimes 'i” o2 4 lf |oQuarters 3 3£
e [ _

USE YOUR TABLE TO ANSWER THESE ﬂUESTIONS

How long is a 11ne of c01ns made up of 2 dlmes and -

3 quarters?

Five coins, quarters and dlmes, make a line. that is 10 2

centimeters long.
A line of 7 coins is worth $l 15,

What c01ns are in the 1link?

143

SR

How long is the line?




T 7881

"Pennies - | 4 ;| 5 6 7 |8 9 10
" Length 7.6 | 9.5] 11.4] 13.3]15.2 |1@.1 | 19.0
l. 6 peﬁnies,
2. 52 or 53.
30 95cmo‘
T 86R1
,‘.10 . W = 2' ) ‘ 9 = 3 :"o

. 20
3,.0

{7 + {5 = 2+43=c5

12 - {13 =

§12 - 13 =J1 =1

3.74 - 3.61 = .13

I

134

&




7881

LINE UP PENNIES AND USE YOUR METRIC RULER T0 ?
- COMPLETE THE TABLE. o .

.Number of = 4 5 6l 7 8 9 ' 10
ennies

Length in
. centlmeterq

USE THE TABLE T0 ANSWER THESE GUESTIUNS

v}. If you had a line of pennies that was 11.4 cm long, how

many pennles are in the line? <

2. A meter is 100 cm long. How many pennies would it take to:

make a line 1 meter 1long?

3. A roll of pennles holds 50 pennies. How long a line can

you make w1th 50 penn1es°

86R1 _a
Table of Square Roots

N[ I8 [N I8 [N [v% [ & T
1-11.00 ([ 6 [2.45 {11 [3.32 |16 ° 4.00
2 | 1.41°{} 7 f2.65 |12 . |3.46 || 17 4.12
3 11.73 || 8 [2.83 |13 |[3.61 18 (4.24
4 [2.00 |[.9 |[3.00 |14 [3.74 |[19 . |4.36

) '5 {2.24 |10 3.16 (|15 [3.87 ]|20 [4.47

-

USE THE TABLE TO DO THESE:

;. Find 2 numbers whose square roots add to 5.00.
2. Find ‘ - V
3. Find \‘14 - 13.
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~USE THE -TABLE TO PLAY THE TUBE-CUBE GAME, o
S ‘ . .
¢ . | Number of cubes 1f 2] 31 4] 5] 6 o
« | Number of corners | 8| 16| 24| 32] 40| 43
Number of faces 6| 12| 18| 24| 30| 36
Number of edges 12§ 24] 36| 48| 60] 72

. 'SOME CUBES ARE :IN A TUBE FIND HOW MANY CUBES ARE
IN THE TUBE FROM THESE CLUES.

Game 1. There are 16 more edges than corners.

Game 2, Number of corners. plus. the number of faces plus the
i number of edges is 78. i

Game 3. There are more than 30 edges, more than 30 cqrners, but
: less than 30 faces. - I

Game 4. There are less than 70 edges, less than 35 corners, and
: ~ more than 19 faces. : T .
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- 196

184

172,

160}

1. 160 yards.
2. S-iron and a 2 iron.

1

=y



779801

copcaw | 2] 3].af. s| s . 7

vards | 220 | 208 | 196 | 184 | 172| 160

‘1. 160 yards.. o
2. 5 iron and a 2 iron.

‘T 106R1
. Game 1. 4 cubes
Game " 3 cubes
Game 4 cubes
- Game 4 cubes

> W e
¢ e .. ]

148




“Jack Nicklaos can hit his 2

iron 220 yards.

106R1 | | L
USE THE TABLE TO PLAY THE*TUBE-pUBE GAME.
Number.of cubes | 2l 3l 4 s] &
Number of. corners lej 24} 32] 40| 48
Number of faces 6| 12| 1s8|-24| 30] 36
| Number of edges - | 12| 24 36| 48] 60| 72] @ -

- 9601

- He hits each

o

higher number club 12 yards

less,;i1. 

0

s’

»
SN

Club

Yards| 220

How far does' he expect to hit his

-7 iron?

1.

3

What two clubs could Jack use
-from the tee to the green on

e
Q '
-
o]
‘ £
e . m
-~
=
+<
§
N
3

~

Gameﬁl,
Game 2.

Game 3.

"Game 4.

There are

Number of
number of

There  are

‘less than

There are

- more than

<

*'SOME CUBES ARE IN A TUBE,
(IN THE TUBE FROM THESE CLUES. -

FIND HOW MANY CUBES ARE

16 more edges than corners. .;" _ v
corners plus the number of faces plus thé

edges is 78.

more” than
30 faces.

less than
19 faces.

149

;

30‘éages, more .than 30 corners, but

70 edges, less than 35 corners,. and

v



TTest
1. Ybu can turn twice as- many pages in one minute as you

turned in 30 seconds. , .
2. You turned about tw1ce as many pages in 2 mlnutes“aSvu

you could turn in one minute.
- 3. It would take he;.tw1ce,asAlong as you. -

Tiest s

!bur table should have these headlngs-

Nymber: of ,
minutes 1 10 60 | 1440

Number of |
heartbeats

‘ . ib . . - N
Your answers to questions 1, 2, and 3 depend on the number
of heartbeats®you counted in one minute.




11681

" TURNAUNE\PAGE OF A BOOK AT A’TiME AND TIME YUURSELF
- TO SEE HOW MANY PAGES YOU:GAN TURN IN .30 SECUNDS
- RECORD .YOUR DATA IN EHE TABLE

| Pages ' : “ <;
Seconds. 30 Ol -Sr_

Lo How many pages can you turn in one m1nute°

You wrote your: fr1end's ‘new telephone number in the margln
. of a book. Later it took you 2 minutes of turning pages to ,
" find the number. About how many pages did you turn? - - -

3. It takes your friend twice as long to page through a book.
' ‘How long would it take her to page through a 1l60- sheet . ﬁr‘
-notebook° _ _

COUNT YOUR HEARTBEATS FDR 1 MINUTE -
MAKE A TABLE To SULVE THESE PRUBLEMS g

_ Number of | éf . .
minutes . € -

.| Number of : {:
| heartbeats |«

1. How many heartbeats ‘do you expect to have in the next
,10 minutes? ‘ v

"~ 2. -How many heartbeats in the next 60 minutes?

3. How many heartbeats in;one day?

' . a‘ '-," '= . |
o sHsl




T 13681

$1328.

- After
T TAfter 2 years, $2025.

" After

After

After

After

59
1 year, $2250.

3 years, $1822. 50.
4 years, $1640.25.
5 years, $1476.22L

6 years, $1328.59.

T ‘h46M1

Your<tab1e could have these entrles.

Revolutions of N N
|big wheel1 = | 1 2

1 .546]

{Revolutions of
llittle wheel

in the bottom row.

N

:Multlplylng 1 83 tlmes numbers in the top produces the numbers




13881,

o qu.néwffsffpot'boat cost $2500. Dad says that each
. year it will be worth 10Z less than the year before.-

¢

B

{Wwortn © = ls2sopf

) Y‘ear_;' o ’_.._:1_ _'.2 _.3 4 s i

How much will j't be worth when it is 6 years old?

_j1*Whén'the big wheel turns
.. 1T revolution, the little
"~ "wheel turns 1.83 revolutions.

:::::

"< MAKE A TABLE WITH 5 MORE ENTRIES.

*...  |Revolutions on 1 B |
.. 7 .| big wheel - : . ‘

j ~ | Revolutions on |, R I
‘ 11little wheel . 1-"83/ - <

T F




T 15681 - e

r .
. 1.5 3 60 60 L S
5_w“__Totalwt1me "I sec. | sec. | sec. Imin.
' ' 5 1 20 20
Light on < e
2920 hours f '

T1eeB1. 0 W

This. table would help:

Year - 11976 |'1956 | 1936

Generation - | . 1 _ 2*~_ 3

| Number of . : ‘
rslatives ’ 2 I 4 8

1 "}

ey

~154j
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| 15331 | LT ° . o
égéﬁg,a S e T
- The llght on. thls bU|ld|ng
blinks for .5 segond, is ~. = ;
off for 1 sea\nd qﬂfn‘bllnks .
- for .§ second
o CUMPLETE THE TX@LE
SUURN N .

: \'I'*__'al tlme '%.,‘1’.‘5 1 u": 60. 60 24
N SRR ~.-_\ '.secy |- sec : sec.| min.] hrs.

;r’"

IR o T ;"1‘.‘ .
Tine on sl %08 [ 12

o L 0 R e R "l_:- .
LR 1" o ‘ ﬂ :‘ ' A :
a - . - . L

How many hours@w the llght on durlng a year?

o

!

2T 101 p90ple that came across on the o
Mayflowersln 1620. “If.pou were a direct descendant -

gf nj tifo of those peOple,‘how many relatives (include
*;; 1""ly/father mother, grandfather. grandmother, etc.)

‘@_yngeljszﬂ? (Assume a'new generation

o - .
e N

"o 1976 | 1956 | 1936 | L

Number of -‘-" 9 B A | : S
. ‘ﬂrelatlves S22 L4 8
Lo " —‘f — .




CTEE Yy

__'_‘ “Cassetta——‘ T T I Ty _"‘MG'O"{" _"Mg'o'_'“'“" l
IR Btret- i I LN T

Length of |50 5| 750 | 1125 |1687.5
tape - |°® v .

T188R1
" A new one costs more.
For a new one ‘the charges are: .
Zimp . . . . ... . . $20.00
Labor .7 x 12 . . . _ 8.40
T " total $28.40°
For repairing éﬂd,éainting the old one:
Repairing 1.9 x 12 . $22.80

Painting .3 x"12 . . -'3.60
- -total 523.;0

fiu ) e




17601 °
T remember

3
~ the tape moves)

:»—-~~--————4—A--—-»-3O—m-i-»n»d-t-e"~'c»a—s~~sf-e;-t~~t—e-~~---—-~--¥ &t 7% inches
plays 15 minutes on . per second.
- each side of the tape. ' -

How many feet of tape is in each of these cassettes?

M30 cassettes play 15 minutes: on:; :each side. An M40 plays ;~@

20 minutes on each side. " 5

RN

Cassette : . - '
1abel 5 M30 M40 | M60 | M90 |

_JLength of
tape =

—\ 186R1

Joes Fix-iT Shop -
Time Esnmqfeb

A new zimp costs $20. Labor.

Tob T Thows| 80812 per hour. = e
[Replace gizme | .2 What costs more. - R
— — . replacing a damaged zimp
Reparr rutchie) 2,3 ~ with a new one or
Pt rufchle 8 repalrlng and painting a

— ; — zimp?
Replace zimp .7 P*

Repair zimp | 1.9
Fb&ﬂ"ZﬂMp : 3

EKC

Aruitoxt provided by Eic:



T 196M1

_Yéur table could have these entriecs:

Revolutions on 3 100 .17] 217.
little wheel ..
I' Revolutions on. 1.38? 46 '100

Mul'tiply .46 times numbers in the ticp row to get ,numbers in

the bottom row.

Divide numbers in the bottom row by .46 to get numbers in the

top. row. '
T 206C1
. y
J'."ﬁ', " .
‘Days . AR ' 1 2. 3 “ 3 4
Miles = - 100 225} 375 480 525
Total Bill sa1.95 | $88.65 | .5140.10 | s$160+05 $191.55

156




turns 2 revolutions,thew
big wheel turns .82
revolution.-

MAKE A TABLE WITH 5 MORE ENTRIES:

: Revolutions on 5 ’ - é
. little whee ’ p
-~} Revolutions on » -

. | big wheel .92 '

© . 20861 SR -
. D\ S ‘CARS
- % 3 - HURTS - RENTAL
o 193295 per gay,

_ 19¢ per mile
\___ 995 included

v

¢ CALCULATE THE RENTAL COSTS. -

 |pays - 1 2 3] 3| 4

Miles: | 100 | 225 | 375 | 480 | 525

]Total billls41.09




T 216€1 3
' )
Grade ‘ Grade 4 ‘Grade 5 Grade 6 . “mggadewzdm_wmg;gdeﬁgmrq
Amount of candy] $101.00 $205.00 $115.75 - | . $97.25 $209.50 .
Profit for ' - . '
class $20.20 . $41.00 $23.15 $19.45 $41.90
Yy

T 22601

Your tables will depend on the length of the strings you

used.

Regardless of the length of the strings, your pendulum will

- will swing twice as many times in 2 minutes as it d1d in

" one minute.

e
~
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) Q-".‘-, '21331 |
%—9 ’I_f )'OUL sell

((That means’ if wo%

Sell $#48 worY
ndy wet Qe

v

our candy,your - TV 5@y ) cawnd )
C TV Class will Tget /N (- ;;o)x(qg) For

\ 20% of the : , “'\r\e -c\ass. )

-~ \Yotal sales./ - -

4 - - 9 :

Here are the amounts each class sold. Find how much 1
profit they made. o | |

N
-] Grade Grade 4 Grade 5 Gradevgb Grade 7 | Grade 8
Amount of candy  $101.00 $205 00 $115.75 - $97.25 $209.50
Profit for : : '
class ' $20.20 $41.00

| What'was t§£i1otaj profit for the school?

226C 1 - S
| USE STRING AND A SMALL WEIGHT TO MAKE A
- PENDULUM. USE A WATCH AND COUNT THE
- SWINGS TO FILL IN THE TABLE, |
’ | «i H | Time in ﬁiﬁutes~ 1 iz -3 4 | s
'EEi::{ ' Swings of-péndulum- _
| < TRY A LONGER PENDULUM _
Time in minutes j:;;g l; 1 4 2
L . Sw1ngs of pendu;um
| TRY A SHORTER PENDULUM.
'u? ;,,f + lTime in minutes 1 l213] a5
Ny 3 ' Swings of penduluh ' B B




COMPLETE THE TABLE.

1Distance A ' '
 acrass (cm) 1 5.2| 4.371 .94 | 97.6
Distance
around (cm) 3.14 16f3;

:




T 238C1 : I .

Distance X .
across 1 15.2 4.371] .94 97.6 .

.Distance 1 e e . —
, | around 3.14 J16.33 [13.72 |2.95 [P06-46
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